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INPEAUCJIOBHE

IIpennaraemoe yue6HOE mocoOue MpeAHa3HAYCHO Ul CaMOCTO-
ATEIHHOW pPabOTHl OOydarommMxcs IO MporpaMMe OakaiaBpuarta,
HaIPAaBJICHUE MTOATOTOBKH «ATPOHOMHUS» U UMEET CBOEH LIENbIO pa3-
BUTHE HABBIKOB YTCHUS HAYYHO-IIOIYJISIPHOU JIMTEPATYPHI C LEIBIO
U3BJIeUeHHs] MH(OPMAIMK U COBEPIICHCTBOBAaHUE HABBIKOB Ipodec-
CHOHQJIBHO OPMEHTUPOBAHHOH yCTHOH peun. YdeOHOe mocobdue co-
OTBETCTBYET TPEOOBAHUSAM IPOTrPAMMBI IO AHTIIMICKOMY S3BIKY IS
CENIbCKOXO3SHCTBEHHBIX BY30B M PACCUMTAHO HA OO0YyYaromuxcs,
UMEIOIUX 0a30BYIO SI3bIKOBYIO MOATOTOBKY.

Teopernueckoil OCHOBOM yueOHOro MocoOMsl, ONpeaeIuBIICH
€ro CTPYKTYpy M METOJIUKY pabOThl C HUM, SBIISETCS IOJIOXEHUE O
TOM, 4YTO IpOLECC NPOPECCUOHAIBHO OPUEHTUPOBAHHOIO UTEHUS
IpPEeICTaBIsIeT COO0H CI0XKHYI0, KOMIUJIEKCHYI0, WHTEIUIEKTYyalIbHO-
IIO3HABATENIBHYIO JIEATEIbHOCTD, OCYIIECTBIIEMYIO CIELUAINCTOM B
nporecce OPHEHTHUPOBKM B HMH(POPMAIIMOHHBIX HMCTOYHHKAX U
TEKCTax IO 3aJJaHHOM npolieMe. DTO MOJI0KEHHE PeaTu3yeTcs B 10-
COOMHM B A3bIKOBOM M METOJMYECKOM ACIEKTAaX.

IlepBbIil M3 HMX Kacaercs IPEXKIe BCEro IpaMMaTH4ECKOTO U
TEKCTOBOI0 Marepuana. I'paMMaTHdeckuil Marepuan MNpeAcTaBiIseT
coboif Hanbosee TpyJaHbIE Ul TIOHUMAaHUs SIBIEHUs, Haubosee xa-
PaKTEepHBIE I HAay4HO-IIONYJSIPHOM JMTepaTypbl. Teoperndeckas
4acTh B Ka)KJIOM YPOKE JIOIIOJIHEHA IPAKTUYECKUMH YIIPAKHEHUSIMHU.
[Tpennaraemple TEKCTBI OTOOpaHBl HA OCHOBE aHAIM3a MOTEHLUANb-
HBIX CUTyallMil YTEHHsI U TOBOPEHUS, B KOTOPBIX MOXKET OKa3aThCs
CIIELHAJIUCT B MPOLECCE O3HAKOMIICHHSI C aHIJIOSA3BIYHOM JINTEpaTy-
poii 1o crienuanbHOCTH. B yueOHOe mocobue BKIIOUEHbI OpUTHHATb-
HbI€ TEKCTbI, OCBELIAIOIINE pa3IMyHble MPOOJIEMbI CETbCKOXO03si-
CTBEHHOI'O IMPOU3BOJICTBA.

Yro KacaeTcs METOIUYECKOr0 aCIeKTa, TO 3[€Ch CTABUTCS 3a/a-
ya MaKCUMaJIbHO MPUOIM3UTH Mpoliecc 00y4YeHus: K pealbHoll cTpa-
TErMM WUHTEUIEKTyaJIbHONH OOpaOOTKM TEeKCTa M JajbHEeHIero muc-
MOJIb30BAHUS M3BJIEUEHHON M3 Tekcta umHpopmauuu. Psn 3aganuit
HarpaBiieH Ha (OpPMHpPOBAaHUE y OOYUAIOIIMXCS YMEHUH CaMOCTOs-
TEJIbHO ONPEACIATh LU U 3aa4 CBOEU JEATEIbHOCTH, IIJIaHUPO-
BaTh €€ COJICPKAHNE U OLICHUBATH PE3YNIbTATHI.



YuebHOEe MOcoOMEe COCTOMT M3 JABYX OCHOBHBIX pa3/elioB —
Ceabckoe xo3saiictBo (What is Agriculture?), Yao0penus B cesb-
ckom xo3siicTBe (Fertilizers in Agriculture) wu nonoaHUTENBHOTO
paznena Arposkosorusi (Agroecology). Pabora nan mepeducicH-
HBIMHU pa3JieslaMH IpeJCTaBIseT co00i MO3TanHOE OBJIAZCHUE pas3-
JUYHBIMU CTPATErHSAMU M TAaKTHMKAMM YTEHHS] OPUTHHAIBHOW Hayd-
HO-TIONYJISIPHOM JIUTEpaTypbl C LENbI0 MOMCKa HEOOXOOMMOH WH-
dopmanuu U ee BO3MOXKHOTO NMPHUMEHEHHs B Oyaymei mpodeccuo-
HaJIbHOW JiesiTenbHOCTH. OOyyeHne NMPOBOAUTCS B YCIOBHSIX CO37a-
HUS ~ OpOOJEMHBIX  CUTyalluil,  OpraHu3yloummx  y4eOHO-
MO3HABATEJIbHYIO JIEATEIbHOCTh M TPEOYIOIIMX OT O00ydaroluxcs
CaMOCTOSITEJIBHOTO TIOMCKa, OOCYXJIEHHs Ha HHOCTPAHHOM S3BIKE
00001IeHNH, BEIBOJJOB HA OCHOBE 3aJIOKEHHOH B TEKCTe MH(pOpMa-
LUH.



Part |
WHAT IS AGRICULTURE?

Unit 1

Grammar Revision: Passive Voice
Text : What is Agriculture

CrpaaareabHblii 3a10r (Passive Voice)

®opma 3anora MOKa3bIBAET, SABJSETCS JIM MOJJIeXkallee B Ipel-
J0KeHu! (JINLO WK MPEAMET) IPOU3BOJUTENIEM UIN OOBEKTOM JIEH-
CTBUS1, BRIPQXKEHHOT'O CKa3yEeMBbIM.

[MaccuBHbiii 3amor (Passive V0iCe) mokassiBacT, YTO JIMIO WK
MPeIMET, BBIPAKEHHOE TOJICKAIINM, UCTIBITHIBAET JICHCTBHE Ha cele:

The big cake was baked by Sam. Bosbioit nmupor Obl1 ncnieueH
Comom.

[TaccuBHBINA 3a70or YMOTPEOJIIeTCS, KOTJA WCIIOJHHUTEIh JICH-
CTBHUSl OUEBUJEH WJIM HECYIIECTBEH, WJIM KOT/a JIEHCTBUE WU €ro
pe3ynbTar 60s1€€ HHTEPECHBI, YEM HCIIOTHUTED.

OO0pa3oBaHue MacCMBHOIO 32J10ra

Jlns Toro, 4ToObl MONYYUTH (POPMY Triarosia B MaCCUBHOM 3aj10-
re, HeOOXOJMM BCIIOMOTATelbHBIN Tiaron to be B cooTBeTcTBYyMOIIEM
BPEMEHM, JIMIIE M 4YHUCIE€ U IpUYacTHe MPOIIEIIIEr0 Bpeme-
uu (Participle 11) 3Haurmoro riaroa:

This building will be demolished next month. — Dmo 30anue 6y-
dem cHeceHo 6 cliedyioujem mecsye.

My dog has been stolen. — Moio cobaky yxpanu.

B oTpunarenbHbIX NpeanokKeHnsIX yacTuia Not craBuTCs mocie
BCIIOMOTaTeJIbHOTO IJ1arojia, a €Cu UX HECKOJIbKO, TO T0CiIe epBO-
IO U3 HUX:

He has not been seen anywhere. — E2o nuede ne sudenu.

B BompocuTeNbHBIX MPEAI0KEHUIX BCIIOMOTraTeIbHbIH IJ1aro
(unu TIepBbIN U3 HUX) BBIHOCUTCSI HA MECTO TMepe]l O JIeKaIIIM:

Was your wallet stolen? — Baw 6ymasicnux 6vin ykpaoen?


https://www.native-english.ru/grammar/verb-to-be
https://www.native-english.ru/grammar/participle
https://www.native-english.ru/grammar/participle

Tabnuua 1 — Bpemennbie (GopMmbl rnaroia B crpamatenbHoM 3anore (Passive
Form) To be + Participle 1l

WUudunurus Simole Perfect
(to be azke d) Continuous (to have been
Bpemst asked)
Am /asked Am /bel.ng asked Have/been asked
Present Is /asked Is /being asked Has/been asked
Are /asked Are /being asked
Was /asked Was /being asked
Past Were /asked Were /being asked Had been asked
shall (I, we)/ be Shall /have been
asked
Future asked - "
Will /be asked Will /have been
asked

[TaccuBHBIN 3aJI0T HE MOXET OBITh HCIOJB30BaH BO BpEMEHaX
rpymmbl Perfect Continuous u Bpemenu Future Continuous.

YnorpebieHue U nepeBoj 1J1arojioB B IaCCHUBHOM 3aJ10re

3HaueHue U ynorpebaeHHe BpeMeH Tilarojia B MaCCUBHOM 3aJlore
TaKoe k€, KaK ¥ BPEMEH IJ1arojia B akTUBHOM 3aJIOTe.

B anrnumiickoMm si3bpIke B MAaCCUBHOM 3aJI0T€ YMOTPEOISIOTCS Te-
pPEeXOHbIE TJIarojibl, a TakXe HEKOTOpbIE HENEPEXO/IHbIE IJIaroJbl.
[Ipumepsl npeasioxKeHUH C MEePEeXOJHBIMU TJIarojlaMd B MacCCUBHOM
3aJ10re:

By the middle of the nineteenth century about sixty different ele-
ments had been discovered. — K cepedune XIX cmonremus 6vin obna-
pyorcero okono 60 paznuunsix snemenmos.

The delegates will be met at the station. — [Jerecamos scmpe-
msm Ha 8oK3aie.

While a current is flowing through a wire, the latter is being heat-
ed. — Kozda mok npoxooum no npogoioke, nocieoHssi Hacpesaemcs.

Kak BUIHO W3 TPUBEIEHHBIX MPUMEPOB, TJIATOJI B MACCHBHOM
3aJI0T€ B aHTJIMUCKOM $I3bIKE MOXKHO MEPEBOJAUTH HA PYCCKUU SI3BIK
HECKOJIbKUMH CIIOCO0aMHu:
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a) TJ1aroJoM, OKaHYHUBAIOIIIUMCSI Ha -Csl, -Cb;

0) coderaHueM Trjarojia ObITb C KpaTKOW (OPMON NPUYACTHS
MACCHUBHOTO 3ajora (B PYCCKOM SI3bIKE B 3TOM COYCTAHUM [Jia-
roJI OBITh B HACTOSIIIEM BPEMEHH HE YIIOTPEOIISIeTCs );

B) IJIaroJIOM B aKTHMBHOM 3aJI0T€ B 3-M JIMIC MHOKECTBEHHOTO
YHCJIa B COCTaBE HEONPEICICHHO-TUYHOTO MPEUIOKCHHUS.

JlornonHeHWe B MPEJIOKEHUH C TJIAroJIOM-CKa3yeMbIM B Tac-
CHBHOM 3ajiore ymnotpeousercs ¢ npemiorom by wmm with. Oto mo-
MOJTHEHHE COOTBETCTBYET PYCCKOMY JOIOJHEHHIO B TBOPUTEIHLHOM
najaexe 6e3 mpeiora.

JloronHeHWe ¢ TpeaioroM DY BeipakaeT IEHCTBYIOIIEE JIHIIO
WK ICHCTBYIOIIYIO CHITY:

The fish was caught by the seagull. — Poiba 6vira notimana uatixoil.

Jononuenwue ¢ npeaaorom With Bepakaet opyaue AeiCcTBuUS:

Shafts are turned with cutters. — Bauwt o6mauusaromest pesyamu.

1. Translate the following sentences into Russian paying at-
tention to Passive Constructions.

1. We were given this valuable advice by the experimenter him-
self. 2. Plants bearing seeds are spoken of as seed plants.
3. The delegation was shown various species of useful plants.
4. The end of the root is referred to as the root cap. 5. The endosperm
should be looked upon as a food supply stored in the seed for some
future use. 6. All the plants that were dealt with in this experiment
are cross pollinated. 7. At first wild plants were cared for by man in a
very primitive way. 8. All the roots and root branches of a plant are
referred to as the root system. 9. The quality of the stored seeds is
highly influenced by the storage condition. 10. This method of culti-
vation in not paid much attention to.

2. Put the following sentences in Perfect Passive.

Example: We have found a new variety of wheat.

A new wheat variety has been found by us.

1. This scientist has developed a new drought resistant variety. 2.
We have grown perfect crops of wheat on heavy loams and clays. 3.
Our experimental station has developed a new frost resistant variety



of wheat. 4. This winter wheat variety has produced a high yield. 5.
The farmers of China have grown wheat at least 3000 years ago.6.
Roots are known to be classified into several types. 7. This scientist
is said to have developed a new drought resistant variety of wheat. 8.
The seeds of wheat are known to be planted much deeper than that of
clover. 9. Wheat is said to have been grown in China 3000 years ago.
10. Wheat is believed to have been grown in Asia and Northern part
of Africa from time immemorial. 11. No part of the world is consid-
ered too hot for the production of wheat.

3. Fill in the gaps with by or with.

1. The hall was decorated ... pink balloons. 2. The roof of the
church will be repaired ... local people. 3. This material has been
already published ... Cambridge University Press. 4. The house was
built ... money that he had borrowed from the bank. 5. When the
accident happened, the car was brought ... police.

Text

Active Vocabulary
1) acid soils — kucbie Mo4BbI
2) agronomy — arpoHOMHUS
3) application — mpumeHeHue
4) branches of agriculture — orpaciu ceabCKOro Xo3siicTBa
5) cattle breeding — cxoToBoICTBO
6) cotton — xsomok
7) crop growing — pacTeHHEBOACTBO
8) crop rotation — ceBoo6opoT
9) equilibrium — paBHoBecue
10) feed — xopm
11) flax — nen
12) food crops — kopMOBBIE KYJIBTYPBI
13) foodstuff — nureBoit mpoyKT
14) grain Crops — 3epHOBBIE KYJIBTYpBI
15) herbicide — repOurmg
16) industrial crops — TexHU4YecKue KyJIbTyphI
17) intensification — uaTeHCUpUKATTUSI



18) liming - u3BecTKOBaHHE

19) mechanization — mexanu3arus

20) mineral fertilizers — munepanbHbIe yaI00peHUs
21) nutrient substances — nuraTeabHbIC BEIIECCTBA
22) organic fertilizers — oprannueckue ymo0peHus
23) pig growing — CBUHOBOJICTBO

24) plant protection — 3ammmura pacTreHui

25) poultry breeding — ntuieBoaCTBO

26) protein — 6emox

27) raw materials — ceipbe

28) soil — mouna

29) to breed — pa3BoauTh

30) to cultivate — Bo3iebIBATH

31) to disturb — 6ecriokouTh

32) to irrigate — oporirath

33) utilization of fertilizers — npumenenue ymoopeHmii
34) yield — ypoxaii

1. Guess the meaning of the following international words

and word combinations:

activity, materials, Latin, cultivation, intensification, climate,

hybrid, mechanization, herbicides, biological, equilibrium, sector,
economy, industry, factor, system, agronomy, technical, tractor,
combine, machinery, electricity, chemical, material, chemization,
mineral, organic, biological.

2. Find the correct word on the right opposite in meaning to

the one on the left.

vital vague
increase inefficient
achievement worse
sufficient drawback
better narrow
improvement unneeded
effective deterioration
clear reduction



extensive unnecessary
valuable inadequate

3. Match the words on the right (A) with their definition on

the left (B).
A B
1) to breed a) produce by cultivation
2) field b) supply (land) with water
3) agriculture c) soil management and crop
production
4) economy d) subdivisions of agriculture
5) branches of agriculture e) a piece of ground especially
for pasture or tillage or play ing games
6) soil f) cultivation of the soil and
rearing of animals
7) yield g) upper layer of earth, in
which plants grow
8) agronomy h) produce or return as fruit,
profit or result
9) to irrigate i) management of concerns and
resources of state or business or
household
10) to grow g) raise (cattle etc.)

4. What are these words derived from? Notice the different
suffixes, indicating different parts of speech.

Activity, cultivation, growing, meaning, breeding, achievement,
developed, agronomical, rotation, various, considerably, chemical,
improvement, deliveries, intensification, comprehensive, mechaniza-
tion, utilization, liming, protection, development, valuable, raising,
equipment, enlargement, combination.

5. Give Russian equivalents for:

crop growing, livestock breeding, sufficient good soil, to pro-
duce high yields, crop rotation, chemical fertilizers, comprehensive
mechanization, plant breeding, poultry-breeding, pig-growing, nutri-
ent substances.
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6. Open the brackets using the verbs in Passive Voice:

1. Enough food for all the people (can grow) if there is sufficient
good soil for crops to produce high yields

2. An increase in the yield of grain and other crops (to ensure)
by a number of factors.

3. Field work already (to mechanize) to a very high degree.

4. Depending upon the field of application crops (to subdivide)
into food crops, feed crops, industrial crops and vegetables.

5. Vegetables (to grow) everywhere where the climate is most
favourable for these crops.

6. Industrial crops also widely (to cultivate) by the farmers.

7. Read the text and say why agriculture is a vital sector of
economy.

WHAT IS AGRICULTURE?

Agriculture is a human activity in which people use areas of land
to produce food, clothing and other necessary materials.

The word ager is a Latin word. It means a field. The word agri-
culture means the cultivation of fields and growing crops. But this is
the old meaning of this word. Now it also means the use of land to
breed animals.

Agriculture is the vital sector of the economy. Its condition and
development largely determine the country’s achievements, the sup-
ply of the population with foodstuffs and many industries with raw
materials.

At present there are two main branches of agriculture. They are
crop growing and livestock breeding.

We do not know when people began to grow crops. It was many
thousand years ago. Now crop growing is a highly developed branch
of agriculture.

The soil is the basis of agriculture. Enough food for all the peo-
ple can be grown if there is sufficient good soil for crops to produce
high yields. So an increase in the yield of grain and other crops is
ensured by a number of factors. First comes the system of agronomi-
cal measures. All farms have to introduce better crop rotation sys-

11



tems. Rotation systems naturally differ in various areas and under
various conditions. Second goes the technical equipment of farms.
Tractors, combines, lorries and other machinery will considerably
reduce the time required for agricultural work. Field work has al-
ready been mechanized to a very high degree. Power stations provide
farms with electricity. Third, an increase in the deliveries of chemical
fertilizers and the improvement of their quality.

The enlargement of the material and technical basis of agricul-
ture and its intensification through chemization, the comprehensive
mechanization of crop and animal farming and improvement are the
key conditions for increasing agricultural production.

Depending upon the soil and climatic zones effective methods
should be introduced for the utilization of mineral fertilizers in com-
bination with organic fertilizers along with the liming of acid soils.
The production and use of chemical and biological means of plant
protection should be increased. But all intensification factors, such as
full mechanization, high application of fertilizers and extensive use
of herbicides must be used in such a way as not to disturb the biolog-
ical equilibrium of the soil.

Depending upon the field of application crops can be subdivided
into food crops, feed crops, industrial crops and vegetables. Potatoes
and other vegetables are major food crops. Vegetables are grown
everywhere where the climate is most favourable for these crops.

Industrial crops are also widely cultivated by the farmers. Per-
haps the most important industrial crop for textile industry is cotton.
Cotton is generally grown on the irrigated lands. Flax is another im-
portant crop. Cotton and flax oils are both edible and valuable.

Livestock breeding comprises cattle-breeding, pig-growing,
poultry-breeding, etc. One of the principle problems cattle-breeding
faces is that of fodder or feeds. To choose the necessary feeds, rich
enough in protein and other nutrient substances is not an easy thing.
Increasing the production of meat, milk and wool can be achieved by
raising productivity and also by increasing the heads of livestock and
the amount of poultry.

12



8. Find information in the text to answer the following ques-
tions.

1. What is agriculture?

2. What are the key conditions for increasing agricultural pro-
duction?

3. What branches of agriculture do you know?

4. How many groups are crops subdivided into?

5. What does livestock breeding comprise?

6. What problem does cattle-breeding face?

7. How can the production of meat and milk be increased?

9. Divide the text into several parts. Find the key sentences
in each part. Sum up the content of the text.

10. Refer to the text again and prove that an increase in the
yield of grain and other crops can be ensured by:

— the system of agronomical measures

— the technical equipment of farms

— an increase in the deliveries of chemical fertilizers and -- an
improvement of their quality

Unit 2

Grammar Revision: Comparatives and Superlatives
Text : Land Economics

Crenenu cpaBHeHHs PUJIAraTeJIbHbIX H Hape4n i
(Comparatives and Superlatives)

[TpunararenbHbIe B aHTIMHCKOM SI3BIKE HE MMEIOT KaTerOpUU
poja, uucnia, naaexka. KauecTBeHHbIE MMEHA TpHUiarareIbHble B aH-
TJIMACKOM SI3BIKE, TaK K€ KaK U B PYCCKOM SI3bIKE, HIMEIOT TPH CTeIle-
HU CPaBHEHUS: MOJIOKHUTEIHHYIO, CPABHUTEIBHYIO U MPEBOCXOIHYIO.
OpHaKo eclii B PyCCKOM SI3BIKE KaXK/I0€ TpHiiaratelbHoe, KaK mpa-
BUJIO, UMEET U CIOXKHYIO (COCTOSIIYIO M3 JIBYX CJOB), U MPOCTYIO
dopMBI cTeneHel cpaBHEHUs (HApUMEp: uumepechHee U 6osiee UH-
mepecHblll, UHMepeCHeuwuti 1 cambvllii UHMepecHblll), B aHTTTUHCKOM
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SI3bIKE MPUIIAraTesibHOE, KaK MPaBUiI0, UMEET TOJBKO OIHY GopMy —
6o mpoctyro, b0 crnoxkHyr. Ocobas KaTeropwsi aHTIUHCKUX
HApCUUil MOXKET TAK)KE UMETh CTETIICHU CPaBHEHHSL.

Tabmuua 2 — O6pa3zoBaHue CTENIEHEH CpaBHEHUS B aHTITUICKOM

SI3BIKE
HpI/IHaFaTeHLHLIe, TlonoxxurenpHas CpaBHHTeHLHaH HpeBOCXOHHaﬂ
Hapeuus Crenenb CICNeHb CIeneHs
(Comparatives) | (Superlatives)
1 2 3 4
hot hotter (the) hottest
S — easy (_adj) easier (the) easiest
— polite politer (the) politest
HBY! soon (adv) sooner (the) soonest
(the) most cor-
MHOFOCTOKHLLE correctly (adv) more correctly rectly
beautiful (adj) more beautiful (the) most
beautiful
older/elder oldest/eldest
. oftener/more oftenest/most
old (adj)
often often
CMmeriaHHbIe often (adv),
slower/more slowest/most
ciry4au slowly
uickl slowly slowly
g y quicker/more quickest/most
quickly quickly
. best
well (adv)/good (adj) better
worst
badly/bad worse
Cnyuyau, KOTOpbIE most
much more
CJIE/TyeT 3armoM- . least
- little less far-
far farther/further thest/furthest
near nearer
nearest

*I[ByCHO)KHLIe npuaaraTejibHbIE C yIapeHUEM Ha BTOPOM CJIOre U IpujiaraTeiib-
HbIC, 3aKaHYMBAIOIIMEC Ha -€, -€r, -y, -OW.
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Tabnuna 3 — OcoOeHHOCTH YIOTPEOICHUS PUIAraTeiIbHBIX B CPABHUTEIIb-
HOM U PEBOCXOJHON CTENICHH

IIpunara-
P Oco0eHHOCTD IIpumep
TEJIBHOE
1 2 3
Hmeet u apyrue 3HaueHUs:
Kpatine/éecoma This is a most interesting film.
Most MO3KET UCTIONB30BATHCS C APTHK- They are most eresting people.
aem alan Most of my friends live in Moscow
bonvuuncmeo/boabuidas yacmo
Hcnonb3yercsi, KOraa pedb HAET O
Farther, . .
PaCCTOSIHUH: Oauiblile, CaMblil You must go a little farther
farthest .
oanvHuil
further information
Further, Bripakaet 3HaueHHA: danbHeli- OdonoanHumenvHas uHgopmayus
furthest wiutl, nocnedyrowutl, 006a604HbIlL further discussion
danvHeluiee 00CydcoeHuUe
Elder, Vnorpebnsercs i1 0003HaYCHUS
P A N my elder brother
eldest BO3PACTHBIX OTHOIICHHH B CEMbE
Nearer, Bruorce, bnuscatiwuit (0 paccTosi- . .
(op Where is the nearest post office?
nearest HUH)
Credyrowuii (0 IOpAIKE CIeI0Ba- L
Next nedyrowguit (0 MO A They live in the next house
HUSA)
Later, TTo3oice, nocieonuit ,
I’ll call you back later
latest (0 BpeMeHH)
Tocneonuii (o mopsiAKe cienoBa- 7
Last ( DA a 1t’s his last book

HUS)

I[J'ISI CpaBHCHHA Ka4YCCTBa NPCAMETOB HCIIOJB3YIOT TAK¥XKE CJIC-
yrorue GopMyJIbl:

1. than — vem: Moscow is larger than St.-Petersburg.

2. as ... as — max(out)oce ... kax. He is as young as my brother.

3. hot so ...

quickly as that one.

4. the more ... the better — uem ...
better you know the language.

5. much, far — namnoeo,copazoo: The husband was much older
than the wife.

6. abit, a little — nemnoco: Could you speak a bit louder?
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as — ne max(oti)... xkax: This train goes not so

mem: The more you work the




1. Open the brackets using Comparatives.

1. I don’t get what you mean. Could you please talk (slowly)?
2.You should have thought about buying the dress (early). It is two
days left before the prom and we will not be able to find something
special. 3. Arabella laughs (loud) than before. Is everything (good)
now? 4. Her mother knows the history (accurately) than her teacher.
5. All of a sudden John turned out to run (fast). 6. The situation on
the labor market is getting (bad). It is getting (hard) to find an appro-
priate job. 7. The group of old friend arrived to the station (late) than
everyone else. 8. | used to go to the swimming pool (often) than | do
right now. 9. This test was very difficult. I know you can do much
(good). 10. They moved (far) than they’d planned.

2. Open the brackets using Comparatives or Superlatives.

1. The Trans-Siberian railway is (long) in the world. 2. The 22™
of December is the (short) day of the year. 3. Iron is (useful) of all
metals. 4. The Volga is (wide) and (deep) than the Neva River. 5.
Elbrus is the (high) peak in the Caucasian Mountains. 6. His theory is
(practical) than yours. 7. Moscow is the (large) city in Russia. 8.
Yesterday was the (cold) day we have had this winter.

3. Fill in the gaps with as ... as or so ... as.

1 The temperature today is ... high ... it was yesterday. 2. He is
not ... old ... he looks. 3. He is ... strong ... his brother. 4. This
street is ... wide ... the next one. 5. The luggage is not ... heavy ... |
expected. 6. His TV set is not ... powerful ... mine. 7. She is ... tall
... her mother. 8. In Novgorod itis not ... hot ... in Rostov.

Text
Active Vocabulary

1) application of fertilizers — npumenenue ynoopenuit
2) conditions — ycioBus
3) diseases — 6one3Hu
4) drainage — ocyIieHue, IpeHax
5) efficiency — a¢pdpextuBHOCTD
6) erosion — spo3us
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7) harvest — ybopka ypoxast

8) irrigation — oporieHue

9) legume — 6060Bast KyIbTypa

10) loss — moteps

11) manure — HaBO3

12) moist — BiaaxHbI

13) natural resources — IpupoaHbIE PECYpPCHI

14) nutrients — nuTaTe/IbHbIC BEIIECTBA

15) organic matter — oprann4eckoe BEIIECCTBO

16) productivity — mpou3BOIUTEIEHOCTh

17) seeds — cemena

18) selection — cenexmus

19) soil conservation — coxpaHeHUE TOYBBI

20) tillage — 06paboTka MOYBLI

21) to affect — BiusTH

22) to eXpose — moaBepraTh ACHCTBHIO

23) to obtain — mony4ats

24) to plow — naxatb

25) weeds — copusiku

1. Guess the meaning of the following international words
and word combinations:

element, erosion, result, organic, effect, controlling, method,
practice, factor, to adapt, climatic, drainage, irrigation, region, physi-
cal, selection, efficiency, operation.

2. Odd word or word combination out: the one which doesn’t
fit into the group of synonyms.

Efficient — competent, capable, backward, producing desired re-
sult;

proper — accurate, correct, probable, fit, suitable, due;

to adapt — to adjust, to fit, to modify, to add, to alter, to suit;

to operate — to be in action, to carry on, to perform an operation,
to work, to exhibit;

major — main, chief, more important, significant, rapid,;

increase — growth, enlargement, reduction, magnification, addi-
tion.
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3. Match the words on the right (A) with their definition on

the left (B).
A

1) conservation

2) erosion

3) tillage

4) crop rotation
teristic weather of any region
5) soil improvement
wind
6) drainage

7) climate

8) irrigation

B

a) applying water into the soil
for good growth and de-
veloment of crops

b) making the soil more pro
ductive for growing plants

c) the protection of natural
resources according to
principles that will assure
their highest economic

or social efficiency

d) the total long-time charac-

e) the carrying away of the
land surface by water or

f) the order in which crops

are grown during a series of
years on the same land
g) the removal of excess wa-

ter from land

h) preparation of land for
crop-bearing

4. Find the word on the right which should logically follow

the word on the left:
high
crop
organic
proper
controlling
the effect of

erosion

selection

practices
production

weeds and diseases
matter
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application of the soil

improving yields
irrigation conservation
soil fertilizers

5. What are these words derived from? Notice the different
suffixes, indicating different parts of speech.

Conservation, irrigation, production, productivity, application,
rotation, preparation, favourable, efficiency.

6. Read the text and say what proper land use means.
LAND ECONOMICS

Land economics deals with the efficiency of the use of land, soil
conservation and irrigation practices. Crop production greatly de-
pends on land and its productivity.

The cropland varies greatly both from one region to another and
within each region. Soils are the most important natural resources.
Farming destroys them to some extent, removing the essential plant-
food elements and exposing soil to the effects of erosion. The latter is
the result of the action of wind and water. Erosion lowers productive
value through the loss of the soil itself and removal of nutrients and
organic material. The net effects are: higher cost of tillage and lower
income.

Better land use means first of all soil conservation. It includes
measures for controlling erosion, proper rotations to increase the or-
ganic matter, the application of fertilizers and manure, proper tillage
methods as well as drainage and irrigation practices.

The better the soil, the higher the yield. But yields are known to
be affected by many other factors as well. Among them there are:
high-quality seeds of the crops adapted to the climatic and soil condi-
tions of the region, application of fertilizers, good preparation of the
land, proper rotations, drainage and irrigation where needed, timely
planting, cultivating and harvesting.
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Crop being well adapted to the region, better and more economi-
cal yields are obtained. Crops should be produced where physical
conditions are most favourable for their growth. Thus, it is necessary
to study the main physical needs of the crops to be grown.

Proper varieties should be chosen to get high yields. The proper
selection of high-producing, good-quality varieties is an important
part of high production efficiency.

Of all agricultural practices affecting yields seedbed preparation
has been found to be the most important. Plowing is the first step in
seedbed preparation. Due to this operation the soil is loosened, better
conditions for the crop being provided. The right kind of preparing a
seedbed is to get a fine, moist and mellow soil.

Good crop rotation is known to keep up the productivity of the
soil. A rotation usually includes: a grass-farming crop, especially one
that includes legumes to add nitrogen and increase the organic matter
of the soil; a cereal and a cultivated crop, at which time manure and
fertilizers can be applied. Well-planned rotation increase yields be-
cause of their conserving and improving the soil. They increase the
supply of organic matter, which has such a good effect on the physi-
cal condition of the soil. Crop rotation proved to be highly effective
in controlling weeds and diseases.

7. Find in the text English equivalents for the following Rus-
sian words:

00paboTKa MOYBHI, OPOIICHUE, OPrAaHNYECKHE BEIECTBA, BHECE-
HUE yA00peHMi, MPUPOHbIE PECypChl, Ypoxkail, CeBO00OOpOT, KIMMa-
TUYCCKHUE YCIIOBUA.

8. Find information in the text to answer the following ques-
tions.

1. What does land economics deal with?

2. Does crop production depend on land or its productivity?

3. What is the most important natural resource?

4. How does erosion lower productive value of soil?

5. What does soil conservation include?

6. What factors are yields affected by?
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7. How does seedbed preparation affect yields?
7. What is crop rotation needed for?

9. Exclude some detailed information and retell the text.

10. What is your attitude to this problem? Are your views
closer to A or B? Give arguments to support your view.

The quality and yields of crops produced depend on:

a) the soil management;

b) the quality of the seed to be used, the variety of the crops to
be grown.

Unit 3

Grammar revision: Participle 1-I1
Text : Climatic Requirements of Plants

IIpnyacTusa HaCTOSLEro U MPOLIeIIero BpeMeH!
(Present Participle, Past Participle)

B anrnmiickoMm s3eike nmpudactue (the Participle) — aTo ogHa u3
HEeJIUYHBIX GOpM TIUlaroja, Hapsany ¢ MHQUHUTHBOM (the Infinitive)
u repyaueM (the Gerund). B anrnmiickoM s3blke mpUyacTue OJIHO-
BPEMEHHO BBINOIHIET (QYHKIUU TaKUX YacTed pedu, Kak Ipusara-
TEJIBHOTO, TJIarojia U Hapeuus. B Hamem poaHoM si3bIke (YHKLIHU
Participle I BolmonHseT AeenpuyacTie U OTBeYaeT Ha Bompoc: «YTo
nenaa?». AHINIMACKOMY S3BIKYy HE M3BECTHO JEENPUYACTHUE, IOATO-
My aHIVIMHCKOE MPUYAcTUE COBMENIAET B ce0e pycCcKoe MpuyacTue u
neenpuuactue. Hampumep:

[Tpuuactue: Manvyuuk, 1ucmarowuii HCypHan...—

The boy flipping magazine...

Heenpuyactue: Ilpocmampusas KHu2y, MAnbyux Hauiel MHO20
unmepecnvix gpaxkmos. — Looking through the book, the boy found a
lot of interesting facts.

B aHrnmiickom si3plke M3BECTHO 2 BHJA MPUYACTHUS: MpUYACTHE
Hactosero Bpemenu (Participle I unu Present Participle) u npuua-
ctue npoiueamero spemenu (Participle II unu Past Participle).
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[IpuyacTrie HACTOAIIETO BPEMEHH O0pa3yeTcs myTeM ao0aBiie-
HUS K OCHOBE TJaroiia (MHQUHUTHUBY, HO 0e3 4acTuIlbl t0) OKOHYaHUS
-ing. Hampumep: to work — pabomame, working — pabomas. Yro0b1
BBIPA3UTh OTPHUIAHHE, Tepe] MPUYaCTUEM CTAaBUTCS dYacThma nNot.
Hampumep: not paying attention — ne ob6pawas snumanue.

[TpruacTre HaCTOSALIEr0 BPEMEHU B AHIVIMMCKOM SI3bIKE UMeeT 4
bopMmBI:

Simple Active (mpoctoe mssmieecsi, ACHCTBUTEIbHBINA 3aJ10T):
Surprising — yousasowuil, youeisis,

Simple Passive (mpoctoe msmieecs, CTpagaTeIbHBIA 3aJ0T):
being surprised — yousensemviii, 6y0yuu yousnennwim,

Perfect Active (3aBepieHHOe, NEHCTBUTENBHBIN 3aior): having
surprised — yoususwuii, yousus,

Perfect Passive (3aBepiieHHOe, cTpagaTenabHBIN 3aior): having
been surprised — 6wbL1 yousnen, 6yoyuu yousienHbiM.

Jus 00pa3zoBaHMs TPUYACTHS MPOIICIINIEIO BPEMEHH HEO0O0XO-
JTUMO:

1) y npaBunpsHbIX riaronioB (Regular Verbs) k ocHoBHOM nHpu-
HUTUBHOM (opme Oe3 uactuipl {0 100aBUTH OKOHuUaHue -ed.
improved — yayuwennwiii;

2) y HenpaBwibHbIX TyaroioB (Irregular Verbs) mpuuactue
IPOILEANIEr0 BpeMEHH COOTBETCTBYET 3 (hopMe HEeMmpaBUIILHOTO TJia-
roua. taken — ezsmuiil.

[Tpuuactue |l B aHrHiickoM SI3bIKE BBIMIOJHSIET B MPEATIOKEHUU
GyHKIMKM ompeneneHus K cymiecTBUTeIbHOMY (cooked
dinner — npucomoenennwiii yorcurn mubo odcrositenscra: when asked
he did not answer — koeda eco cnpawusanu, on ne omeeuai.

1. Translate the following word combinations paying atten-
tion to Participle I-I1I:
crops adapted to the conditions of the region, collective farms grow-
ing wheat, some crops grown by our farm, soil supplied with nitro-
gen, one of the cereal crops raised, wheat varieties best known to
people, crop producing high yields
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2. Choose the appropriate form of Participles and translate
the sentences.

1. In our region there are some farms (grown, growing) wheat.
2. These are the crops (grown, growing) by our farm at present. 3.
Small grains are the crops (harvesting, harvested) with combines. 4.
This crop will grow well on the soil (supplying, supplied) with nitro-
gen. 5. The environmental conditions (required, requiring) by crops
for their best development should be favorable. 6. Crops such as
wheat, oats, rye and barley are the ones (required, requiring) relative-
ly cool conditions for their growth. 7. Humidity is one of the most
important factors (influenced, influencing) the crops growth. 8.
Plants (producing, produced) flowers and fruit when days are short
are known as short — day plants. 9. The crops (including, included) in
the grass family are all cereals and most of forage grasses.

3. Identify the type of Participle, define its function. Trans-
late the sentences into Russian.

1. The roots growing in the soil have two main functions.
2. The food used in growth by green plants is manufactured in the
leaves. 3. Plant nutrients absorbed by the roots are transferred to the
other parts of the growing plant. 4. The food used in growth by green
plants is manufactured in the leaves. 5. Varying greatly with the spe-
cies leaves have different shape. 6. When grown, the farm crops re-
move nutrients from the soil. 7. Supplying man with food and cloth-
ing plants are very important in everyday life. 8. Improving the quali-
ty of crop plant breeders increase yields.

Text

Active Vocabulary
1) adaptability — ananTupyemoctsb
2) average — cpeJHHl, B CPEIHEM
3) barley — ssumenn
4) corn — KyKypys3a
5) due to — Gmaromapsi, u3z-3a
6) essential — BaxHBIH, CYIIECTBCHHBIN
7) irregularities — HapymeHus
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8) oats — oBec

9) property — cBoiCTBO, KaueCTBO

10) relationship — otHoOIIEHHE

11) requirements — motpeOHOCTH

12) to affect — BnusaTs

13) to compensate — KOMIEHCUPOBATh
14) to conserve — coxpaHsTh

15) to incorporate — BkiIrOYaTh B COCTaB
16) to influence — oka3bIBaTh BIUsHHE
17) to mature — co3peBath

18) to prevent — npeoTBpaIaTh

19) to regulate — peryaupoBath

20) wheat — nmenuna

1. Guess the meaning of the following international words
and word combinations:

climate, progress, to control, practice, to regulate, cultivation, to
incorporate, organic, to compensate, irrigation, temperature, effect,
erosion, problem, process.

2. Translate the following pairs of words paying attention to
prefixes:

regular — irregular, proper — improper, normal — abnormal, suc-
cessful — unsuccessful, possible — impossible.

3. Read the following sentences and guess the meaning of the
underlined words according to the context:

1. Crops should not be harvested before they mature. 2. All
crops grow best under favourable soil and climatic conditions. 3. To
improve soil fertility proper fertilizers should be incorporated into
the soil. 4. The same crops should not be grown for many years on
the same area. When different crops are grown one after another on
the same land, such system is called crop rotation.
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4. Match the words on the right (A) with their definition on

the left (B).
A B

1) progress a) total quantity

2) moisture b) forward movement, ad
vance, development

3) amount c) fully developed; ripe

4) cultivation d) season for reaping and stor-
ing of grain; season’s yield

5) mature e) liquid diffused as vapour or
condensed on surface

6) harvest f) preparation and usage of

soil for crops

5. Find the synonyms on the right compatible with the words
on the left:.

apply include

due to most important
amount use

yield thanks to
matter quantity
incorporate harvest
essential substance
manufacture supply

modern produce

feed up-to-date

6. Read the text and say how people could assist the creating
better conditions for plant growth.
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CLIMATIC REQUIREMENTS OF PLANTS

Man cannot influence climatic conditions. However, with new
progress in science, crop production can be controlled by applying
improved farming practices.

So, the farmer cannot regulate the amount of rainfall, but he can
prevent loss of moisture by proper cultivation and by incorporating
into the soil large amounts of organic matter which helps conserve
moisture. In some areas irregularities in rainfall and lack of moisture
are compensated by irrigation.

Proper temperature is also essential for successful plant growth.
In addition it helps conserve water in the soil. So, some plants grow
best in cool climate not only because of direct effect of temperature,
but due to higher supply of water under such conditions.

Wind is another climatic factor influencing crop production. The
farmer cannot control the wind, but he can farm his land in such a
way as to lose as little soil as possible due to wind erosion. He can
plant winter crops in areas where they will mature before dry, hot
windy weather becomes a problem the next summer.

Sunlight is highly important for many processes taking place in the
growing plant. There exist a relationship between length of the day and
the flowering and fruiting of plants. Some plants produce flowers only
when days are long and nights are short. They are called long-day
plants. Some plants produce flowers and fruit in autumn when days are
short and nights are long. They are called short-day plants. Some plants
are not likely to be affected by the length of the day.

Crops vary in their climatic requirements. Corn can be grown
under a variety of climatic conditions, the most favourable environ-
ment being the one where the average summer temperature is be-
tween 70 and 80 F. Wheat sown in the fall does best in regions where
the climate is cool and moist during the fall, winter and early spring
months followed by warm and dry harvest period. Low yields may
often result from too low temperatures and abnormally dry weather.
Wheat and corn may sometimes be grown in rotation with each oth-
er, because wheat is a winter and spring crop, and corn is a summer
crop. Like potatoes, oats and barley do best in cool, moist climate.
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Both quality and yield of potatoes are better in cool regions. Vegeta-
bles, because of their high adaptability, are grown under different
soil and climatic conditions, soils of good physical properties being
especially important.

To obtain high yield of a good quality crop it is necessary to se-
lect a proper variety best adapted to the conditions of the region it is
to be grown in.

7. Agree or disagree with the following sentences:

1. Man can control the amount of moisture in the soil.

2. All plants are classified into long-day plants and short-day
plants.

3. Application of the most progressive agricultural practices
may improve crop production.

4. Choosing the proper variety to be grown is one of the im-
portant factors in crop production.

5. Wheat and corn have the same climatic requirements.

6. There are two ways of increasing moisture in the soil.

7. Soil moisture is in direct proportion to temperature.

8. There are no ways of controlling wind erosion.

8. Find information in the text to answer the following ques-
tions.

1. How can farmers control crop production?

2. What climatic factors are essential for plant growth?

3. What relationship exists between length of the day and the
flowering and fruiting of plants?

4. What are climatic requirements of corn; wheat?

5. What else is necessary to obtain high yield of crops?

Unit 4

Grammar Revision: Modal verbs
Text: Agricultural Engineering
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Mopaaabhble riarojbsl (Modal verbs)

I'maromsr can (could), may (might), must, ought, need orHocsTcst k
IpYIIIie TaK Ha3bIBaeMbIX MOjANbHBIX TiaroioB (Modal Verbs). Mo-
JabHBIC TJIAroJibl HE YIOTPEOIISIOTCS CAMOCTOSITENIFHO, @ TOJIBKO B CO-
YEeTaHUH ¢ UHQUHUTHBOM CMBICIIOBOTO Tiiarosia. OHu 0003HAYar0T BO3-
MO>XHOCTb, CIIOCOOHOCTB, BEPOSITHOCTb, HEOOXOIMMOCTb COBEPIICHHUS
JIEHCTBUS, BEIPQKEHHOT'O CMBICIIOBBIM TJIarojoM. MoJabHbIe TI1arobl
B COUCTAHWU C MH)HUHUTHBOM CMBICIIOBOTO TJIaroJia yroTpeossiioTcs B
NPEIUIOKEHUH B POJIM COCTABHOT'O TJIAr0JIBHOTO cKazyemoro: He can do
it himself. On moorcem smo coenams cam. They may come tonight. Onu,
Modicem Obimb, NPUOYM Ce200HSL BEYEPOM.

MoganpHble TJIAroJibl HE BBIPAKAIOT KOHKPETHBIX MPOIIECCOB
(meiicTBUil), a TIOKa3bIBAIOT JIUIIL OTHOIIEHHWE TOBOPAIIETO K JIEH-
CTBHIO, OIEHKY JEHCTBHA, T. €. BO3MOXXHOCTb, HEOOXOANMOCTH,
NPEIOI0KHUTEIBHOCTD, JODKEHCTBOBAHKE, pa3pelieHue U T. 1. Mo-
JabHBIE  TJIaroJibl SBIISIIOTCSL  HEOOCMAMOYHbIMU — 211A20d-
mu (Defective Verbs), Tak kak oHM HE UMEIOT BceX GOpM, KaKHe eCTh
y IPYTHX TJAroJioB. [J1aronsl can u may uMeroT GopMbl HACTOSIIETO
U mpolieaniero BpeMenu: can — could, may — might, riaroasr must,
ought u need — ToIbKO (hOPMY HACTOSIIIIETO BPEMEHH.

MopabHBI€ TITaroibl UMEIOT Psill (GOpMaTbHBIX OTIMYATEIBHBIX
0cOOEHHOCTEH.

Coueranne MOJAJIBHOTO IJ1arojla ¢ Henep(eKTHbIM MH()UHUTHU-
BOM OTHOCHUT JICHICTBHE K HACTOSIIEMY W OyaylieMy BpeMeHH JIH-
00 CBHJIETENBCTBYET O €0 OJJTHOBPEMEHHOCTU C MOMEHTOM pEeuH, U,
HaMpOTUB, COYETaHUE C MepPEeKTHbIM WHOUHUTUBOM JTUOO OTHOCHUT
JeicTBUE K TPOIUIOMY, JIMOO BBIpaXKaeT MPEIIIeCTBOBAHUE ICii-
CTBUsSI OTHOCcUTEIbHO MoMeHTa peur: | could do it. 5 moz 6vr coe-
nams 9mo (B HacToseM win oyaymem). | could have done it. 5 moz
Ob1 cOenams 3mo (HO y)Ke He cIean).

OtpunarenbHas Gpopma oOpasyercss IpH MOMOIIK YacTUIbI NOt,
KOTOpasi CTaBUTCSI HEMOCPEICTBEHHO MOCJIE€ MOAAJIBHOIO IJlaronia, B
pe3yJbTaTe 4ero 3HaueHHe MEHSETCs Ha TPOTHUBOMOIOXKHOE: Must
Oosdicen — MUst NOt ne donoxcen. B HacTosiieM BpeMeHH Can MHUIIET-
cs cauTHO ¢ not: He cannot do it. You may not take it. He must not
go there. B pasroBopHOil peun B OTpHLATENBHOH (opMe OOBIYHO
YIIOTPEOIISIOTCS CISIYIOIINE COKPAIICHHS:
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cannot — can't, could not — couldn't, may not — mayn't, might
not — mightn't, must not — mustn't, ought not — oughtn't, need not —
needn’t.

B BOIMPOCUTCIIBHBIX TPCIIIOKCHUAX MO,HEUIBHLII\/JI TrJ1arojd CTtout
Ha IICPpBOM MCECTC 160 Cpa3y 1ocCJji€ BCIIOMOIraT€JIbHOI'O CJIOBA: WhO
can do it? Kmo mooicem coeramo smo?

OCHOBHBIEC 3HAUYEHHUS MOJAJIBHBIX TIJIarojdoB — H606XO,Z[I/IMOCTI>
(10JIKEHCTBOBAHME), BO3MOXKHOCTh U Ipearnonoxenue. Hekoropele
[JIaroJibl UMEIOT (DOpMBI TPOIIEAIEro BpeMeHu: can — could, may —
might (uaorma naseiBaror u Will — would, shall — should), Tem He me-
HEC, BCC IOTHU (1)OpMI)I MOT'YT MUMETb CaMOCTOSATCIBbHBIC, INPUCYIIHC
TOJBKO UM OTTCHKH 3HAYUCHUA.

Bwmecto HCOOCTAKIIUX HCJINYHBIX U aHAJIUTUYCCKUX (1)OpM MO-
JAJIbHBIX TJIAr0JIOB HCIIOJIB3YIOT HX SKBHUBAJICHTHI: to have, to be
(=must), to be able (=can), to be allowed, to be permitted (=may).

OT1an4yMTeIbHbIE CBOHCTBA MOJAJTBHBIX IJIar0JI0B

1. He umeroT okoH4YaHUs -S B 3-M JIMIE €AMHCTBEHHOIO YUCIIA
Hacrosiero Bpemenu. He can do it. He may take it. He must go
there. He ought to help him. Need he do it?

2. He umeroT HenmmuHBIX (hopM (MHOUHUTHBA, TEPYHAUS U TIPHU-
4acTus).

3. He ymoTpeOmnsroTcst Kak OTIENbHBIA YICH NPEIIOKEHHS —
IPOCTOE IJIaroJIbHOE CKa3yeMoe, HO TOJIKO B COUETaHMU C €lIe OJ1-
HUM, HE MOJAJIbHBIM, IJ1arojioM B (opMe MHPUHUTHBA 0€3 YacCTUIIbI
to (kpome ought u mHorma need), oOpa3ysi cocTaBHOE IJIaroJibHOE
ckaszyemoe. | must go there. 5 donorcen novimu myoa. You needn't do
it. Bam ne myorcno oenams smoeo. Ho: You ought to help him. Bam
C1edo8ano bbl NOMOUL emy.

4. BonpocutenbHas U OTpHUIlaTenbHas (JOPMbI MOJAIBHBIX IJIa-
roJIOB 00pa3yroTcs 0e3 BCOMOTaTeNIbHOTO II1aroja: B BONPOCHTETb-
HBIX TPEUIOKEHUSIX MOJAIbHBIN TJIaroyl CTaBUTCS Mepes MOoAIexKa-
MM, B OTPUIIATEIFHBIX — ITOCIIE HETO CTaBHUTCs oTpurianue not. Can
you do it? May | take it? Must he go there? Ought he to help him?
Need he do it? He ought not to help him. He need not do it.

5. He umeror ¢dopmbl mpomieamiero BpeMeHH (Kpome cCan —
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could, may — might) u ananutnyeckux ¢opm (Oymyiiero BpeMeHH,
MPOIOJDKEHHOTO BHJIA, MEPPEKTHBIX (HopM U GOpM CTpagaTeIbHOro
3amora). B ciydae HEoOXOIMMOCTH BMECTO OTCYTCTBYIOIIUX (OpM
UCIIOJIB3YIOTCS SKBUBAJICHTHI MOJJAJIbHBIX TJ1aroJIOB.

1. Use the modal verbs must (mosken), can (mMory, ymer),
may (mo:xkHo, pa3spemeno), should (caexyer /coser/), ought to
(caemyer /ynpex/) to complete the sentences. There may be more
than one possible answer.

1. It’s too far to walk from here to the station.. You ... take a
taxi. 2. Sarah got the job because she ... speak five languages. 3.
The windows are dirty. | ... clean them. 4. You ... use a dictionary. 5.
I like this hotel room. You ... see the lake from the window. 6. It’s a
good film. You ... see it. 7. He ... take my book. 8. We ... go to the
bank today. We have no money. 9. When you are driving, you...wear
a seat belt. 10. We...see the lake from our window. 11. If you have
time, you ... visit the museum. It’s very interesting. 12. I ... come and
see you tomorrow. 13. She ... use this "computer program. 14. Your
salary is very low. You ... look for another job. 15. Mary is a very
interesting person. You ... meet her. 16. Take an umbrella with you
when you go out. It ... rain later. 17. Sandra ... drive but she hasn’t
got a car. 18. Tomorrow the game is very important for us. We ...
win. 19. Students ... bring textbooks into the examination room. 20.
It’s late and you’re very tired. You ... go to bed.

2. Translate the sentences paying attention to modal verbs
and their equivalents.

1. Man can use plants for food. 2. We must know how a plant
grows. 3. The farmers can grow a new corn variety on their farm. 4.
All parts of a plant must be developed well. 5. They had to resow this
crop because of bad weather. 6. The farmers are to increase wheat
yield. 7. Some plants are so small that they can be distinguished only
under microscope. 8. There are very large trees growing in California
that may be 350 feet high with a diameter of 20 feet at the base. 9.
Plants may be used for many different purposes. 10. Farm crops may
be classified according to their use.
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3. Translate the sentences into Russian. Name the sentences
with the verbs «to be» and «to have» as modals.

1. Farmers will have to cultivate this soil when it isdry.

2. The farm is to increase yield of corn. 3. They had to grow some
new grain crops this year. 4. The plants have very many uses.

5. These crops are very important for men. 6. Crop plants are to
be classified on the basis of their use. 7. The farmer will have to
plant corn later this year.

Text

Active Vocabulary
1) ability — cnoco6HOCTH
2) automatic control — aBroMaTHYECKUN KOHTPOJIb
3) consequently — ciieqoBarenbHO
4) cooler — oxmagurensb
5) demand — cipoc, moTpe6HOCTH
6) design — au3aiiH, MPOEKT
7) effectiveness — a¢hexkTBHOCTD
8) electric power — snekTpoIHEprUsi
9) equipment — obopyaoBaHue
10) engineering — urxeHepus, pa3padboTka
11) freezing — 3amopakuBaHue
12) opportunity — BO3MOXHOCTh
13) processing equipment — TeXHOJIOTHYECKOE 000PYI0BaHUE
14. reasonable — 060cHOBaHHBIH, TIPHEMIIEMBIi
15) seasonable — cooTBeTCTBYIOIINI BpeMEHH roja
16) source — UCTOYHUK
17) to handle — oOparatbcs, yrnpaBisTh, peryinpoBaTh
18) to reduce — ymeHbII1aTh, COKpaAIaTh
19) variations — pa3HOBUIHOCTH, H3MCHEHUS

1. Guess the meaning of the following international words
and word combination:

industry, biological factor, engineer, principle, adaptable, effec-
tiveness, mechanically, operation, period, design, variations, mecha-
nization, automatic compact construction, milk, modern, reconstruc-
tion, intensification, classification, organize, stimulation, original.
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2. Match the words on the right (A) with their definition on

the left (B).

A B

1) engineer a) outfit, tools, apparatus

2) industry b) the application of engineering

knowledge to agriculture

3) selection c) a person who works in a branch
of engineering

4) biology d) branch of trade or manufacture

5) agricultural engineering €) the system when only best
animals, plants or trees are taken
and used for future production

6) nutrients f) science of physical life of plants

and animals
7) equipment g) substances serving as or provid-

ing nourishment

3. Find the word on the right which should logically follow
the word on the left:

agricultural machines
biological energy

field effectiveness
electric equipment

to reduce the yield of crops
processing factor

milking knowledge
engineering operations

to increase engineering

4. What are these words derived from? Notice the different
suffixes, indicating different parts of speech.

Engineering, application, difference, biological, adaptable, effec-
tiveness, processing, equipment, mechanically, seasonable, freezing,
resting, mechani zation, designing, operating, controlling, adapting,
production, reasonable, automatic, construction, ability, cooler, heat-
er, various.

32



5. Juxtapose a word on the left to the appropriate antonym

on the right:
efficient harmful
often out-of-date
below seldom
modern dry
moist inefficient
to reduce to heat
useful above
to cool to increase
to produce to take
to give to consume

6. Look through the text to answer the following question:
What is agricultural engineering?

AGRICULTURAL ENGINEERING

1. Agricultural engineering means the application of engineering
knowledge to agriculture. The agricultural engineer must understand
that there are basic differences between agriculture and other indus-
tries. The biological factor is an important one in engineering appli-
cation, and the engineer must know well the basic principles and
practices of agriculture.

2. Changes in agricultural practices often need to make a ma-
chine adaptable or to increase its effectiveness. Processing equipment
may also need changes to harvest crops mechanically, for the quality
of yield of a crop may sometimes be reduced by the use of an im-
proper machine.

3. Most field operations are seasonable in nature often with only
a short period of time in which to do the job. Therefore field machin-
ery in many cases has a low annual duty (i. e. very few hours of op-
eration per year).

4. The field of farm machinery design gives greater opportunity
to an engineer than any other field of engineering. Farm machines
must work where the temperature may be above 100 F or where it is
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below freezing. They must be able to work in rain and in snow as
well. Instead of resting on the floor of a factory, they must operate
over any kind of land. They must also be designed to handle wide
variations in crop and soil conditions.

5. Not only agricultural engineers in the field of mechanization are
in demand on the farm today. Electricians, i. e. agricultural engineers
capable of designing, operating, controlling and adapting any form of
electric energy to farm needs are wanted by modem agriculture.

6. As is known, electric power has become the main source of
energy in agricultural production and its sphere of application is ever
increasing.

7. For example, it is a most reasonable source of mechanical
power for some kinds of equipment such as electric motors which are
very suited for farm jobs because of their automatic control, long life,
compact construction, ability to run in cold or hot weather, etc.

8. All kinds of equipment for handling milk, such as milking
machines, milk coolers, water heaters and others are also operated by
electricity.

9. The great effects of various types of radiation on seeds,
plants, insects, and animals have been studied and are well known
today. Those are but a few examples of electric power application on
the farm which a modern agricultural engineer must work with.

7. Look back at the text again and identify in which para-
graph you can find the answers to the following questions:

1. How is the equipment for handling milk operated?

2. Why are electric motors suitable for farm jobs?

3. Why are electricians wanted in modern agriculture?

4. Can radiation affect crops or animals?

5. What is meant by agricultural engineering?

6. What is there specific about field operations?

7. What factor can sometimes reduce the quality and yield of a
crop?
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Part 11
FERTILIZERS IN AGRICULTURE

Active Vocabulary
1) arable — maxoTHbIi
2) calcium — kanmpIuit
3) magnesium — maruui
4) carbon dioxide — yriekucneblii ra3
5) chlorophyll — xmopodumn
6) constituent — cocraBJsrOIINIA, COCTaBHAS YaCTh
7) decomposing — pa3sioxeHue
8) degradation — nerpamanus
9) eliminate — yctpansth
10) emit — u3ay4aTh, BBIACISATH
11) enzyme — pepmeHT
12) exhaust — ucrorare, HCYEPIILIBATH
13) imbalance — quc6ananc
14) impact — Bo3aeiicTBHE, BIUSHHE
15) insect — Hacekomoe
16) liquid — sxuakocTh
17) nitrogen — azot
18) nucleic acids — HykJIeHHOBBIE KUCIOTHI
19) pesticide — mecTummg
20) pests — BpeauTenu
21) phosphorus — docdop
22) plough — mamrssi, BcmaxanHoe mosie
23) potassium — kawii
24) residue — ocraTok
25) root — kopeHb
26) solid — TBepbIii
27) solution — pactBop
28) storage — xpaHeHue
29) sulphur — cepa
30) topsoil — BepxHMii CIIOH MOUBBI
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Unit 1

Grammar Revision: Infinitive (Part I)
Text: Food and Fertilizers

HNudunurus (Infinitive)

WNudunutus (the Infinitive) — aTo Hennunas ¢popma riaarosa, Ko-
Topasi Ha3bpiBaeT AericTBUe. MHOUHUTHB sBiseTcst OCHOBHOM (miu I)
(bopMoii riarosia U MpeACTaBIsAET J1aroi B cioape. [Ipu3HakoM vH-
¢bunuTHBa sBIsseTcs dactuia to: to help — nomozame, to read — wu-
mamo. NHGuHUTUB ynoTpebisiercss 0e3 yacTuilel 10 B CIEAYIOMIUX
clyJasx:

You had better go now. — Jlyuwe yiiou | uou ceiiuac.

I must see you at once. — Mue nado cetiuac sice 6cmpemumucsi ¢
mooboii.

Tabnuna 4 — ®opmbl HHGUHUTHBA

Forms Active Passive
Indefinite to write to be written
Continuous to be writing -

Perfect to have written to have been written

Perfect Continuous to have been -
writing

NupuautuB B (dopme AESHCTBUTEIBHOrO 3ajora oOO3HayaeT
NeicTBUE, MPOU3BENEHHOE JIUIIOM, BBIPOKEHHBIM B TIPEATIOKCHHU
HOJUIeXKAIM, a B CTPa/JaTeIbHOM 3aJI0Te — JIEHCTBHE, HaIlpaBIlIeH-
HOE Ha ATO JIHIIO.

| like to help. — A ar0610 nomocame.

I like to be helped. — A nr0610, K020a mHe nomozarom.

WNnounutus B Indefinite Active o603Hauaer neiicTBue, HE yTOU-
HSs  xapakTep ero mnporekanus. HWuduauru B Continuous
Active mouepKuBaeT JUIUTEIBHOCTD ICHCTBUSL.
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She likes to write letters. — Ona moena nucame nucomo.

She must be still writing. — Ona, doaxcno 6vims, sce ewe nu-
wem.

Henepdextupiii ”HPUHUTHB BBIpaXKaeT IEHCTBHE, OJJHOBPEMEH-
HOE C JICHCTBHEM IJ1arojia-cka3zyeMoro (Wi CIeIyrolee 3a HUM).

[TephexTHpli MHOUHUTHB BBIpaXKaeT JACHCTBHE, MPEIIIECTBYIO-
1Iee JICHCTBHIO, BEIPA)KEHHOMY TIar0JIOM-CKa3yeMbIM.

I am glad to study at the University. — A4 pao, umo yuyce 6 ynu-
eepcumeme.

I am glad to have studied at the University. — 5 pao, umo yuuncs
8 yHUBEpcumeme.

1. Read and translate the following sentences paying atten-
tion to the different forms of Infinitive and their meaning.

1. I’d like to go home early today. 2. It’s nice to be sitting here.
3. I’'m glad to have left school. 4. He doesn’t like to be interrupted
while he’s working. 5. I remember to have been asked this question.
6. I’d like to have been sitting there when she walked in. 7. She
asked me not to forget to post the letter. 8. | was sorry not to have
phoned you. 9. We must make careful plans. 10. | would rather go by
myself.

2. Translate the following sentences. Pay attention to differ-
ence in the translation of attributes, expressed by Participle con-
structions and the Infinitive.

1. The soil to be used as a seedbed should be warm, moist mel-
low. 2. The soil cultivated when it is too wet will not provide condi-
tions for normal plant growth. 3. Seed planted deep enough will have
a sufficient supply of moisture and nutrients. 4. Developing a new
variety to be cultivated in a given area one should know its soil and
climatic requirements. 5. We were given the seed to be used for sow-
ing. 6. The seedbed prepared in spring is to provide the proper envi-
ronment for seed germination. 7. Fertilizers to be applied must be of
highest quality. 8. The yield of root crops produced last year was ra-
ther low. 9. The yields to be obtained on our farm greatly depend on
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soil conditions. 10. The increase in corn yield to be produced greatly
depends on the amount and quality of fertilizers added to the soil.

Text
1. What kind of the text would you expect from the title
“Food and Fertilizers” and the following key phrases which come
from the text:
plant nutrients, major nutrients, micronutrients, deficiencies of
nutrients, plant gross suffer, exhausted soil, to replenish nutrients,
fertilization, fertilizer application, manure.

2. Cross out words and phrases which are not connected
with the problem of using fertilizers in agriculture:

fertilizers, organic, mineral, combine harvester, manure, increas-
ing yields, nutrients, steering wheel.

3. Find the most common word or word-combination among
the following:

nitrogen, phosphorus, potassium, plant nutrients, calcium, mag-
nesium, sulphur.

4. Before you read the text decide which of the following
statements you agree or disagree with:

a) Plants tend to exhaust the soil.

b) The best way to increase soil fertility is applying fertilizers.

c) Itis preferable to add mineral fertilizers into the soil.

d) Fertilization is the only way to improve soil fertility.

e) Use of fertilizers has only positive effect.

5. Scan the text quickly and find what the main components
of a rich soil are and how plants are supplied with them.

For this the following strategies are possible:

— look through subtitles

— look for key words

— look for word meaning through context

— categorize information

— classify information
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FOOD AND FERTILIZERS

We all, 5000 millions of us, depend on plants for our food, and

plants depend on mineral nutrients for their growth and development.

13 elements derived from the soil are indispensable for all

plant growth. They are called plant nutrient. An additional 4 or 5 el-
ements are beneficial for proper development of some plants.

Fertilizers are plant nutrients.

Plant nutrients

Plant form their complex organic matter from water and nu-
trients from the soil, carbon dioxide from the air and energy from
sunlight.

Plants use six of the nutrients in relatively large amounts: ni-
trogen, phosphorus, potassium, sulphur, calcium and magnesium.
These are called “major nutrients”. They are constituents of many
plant components such as proteins, nucleic acids and chlorophyll,
and are essential for processes, such as energy transfer, maintenance
of internal pressure and enzyme function.

The other nutrients are required in small or trace quantities
and are referred to as “micronutrients” or “trace elements”. They
have a variety of essential functions in plant metabolism.

The metals are constituents of enzymes.

Micronutrients are Chlorine (Cl), Iron (Fe), Manganese (Mn),
Zinc (Zn), Copper (Cu), Boron (B), Molybdenum (Mo).

When deficiencies or gross imbalances of nutrients occur,
plant gross and development suffer.

For optimum plant growth, nutrients must be available for
plants: in solution in the soil water, in appropriate and balanced
amounts, at the right time.

Plants are supplied with nutrients mainly from: release of nutri-
ents from soil reserves. decomposing plant residues (roots, straw,
etc.), organic manures, mineral fertilizers, biological nitrogen fixa-
tion, aerial deposition.

Nutrients removed from the soil must be replenished, otherwise
the soil becomes exhausted and crops will suffer and eventually fail.

Soil contains reserves of nutrients, e.g., the topsoil content of ni-
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trogen ranges from some 3 to 20 t/ha. However, these reserves are
mostly in forms unavailable to plants; only a minor portion in re-
leased each year through biological activity or chemical processes.
Plants can only take up nutrients as water soluble compounds

When the nutrients supply is insufficient for crop needs, addi-
tional nutrients can be supplied in fertilizers to make up the differ-
ence. Mineral fertilizers are not substances foreign to nature: they
contain normal plant constituents.

Fertilizer application

Most fertilizers are applied by surface spreading. In arable crops
sowing and fertilization are combined in one operation, with the fer-
tilizer placed near the seeds. Later application of nitrogen are spread
on the surface. Injection of liquid ammonia into the soil using spe-
cial equipment and the spreading of fertilizers dissolved in water are
also used in some regions.

Plants take part most of their nutrients from the soil solution
through the roots, but they can also take up some nutrients sprayed
on the leaves. This is the usual application method for correcting de-
ficiencies of micronutrients.

Fertilizers should be used according to fertilizer recommenda-
tions published by governmental and agricultural agencies and by
fertilizer producers. Increasingly, fertilizer plans are made for each
field. Crop requirements, nutrient supply from soils as determined by
soil analysis, residues from past cropping, manure application and
local soil and climatic conditions are all important in estimating the
fertilizer rate.

Application timing is also important. Needs vary with the stage
of plant development. Too little fertilizer reduces crop yields, too
much is wasteful and result in environmental problems.

6. Sum up the ideas of the above text in some sentences. Use
the strategy of classification key and additional information. If
you have any difficulties refer to Part 1.
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Unit 2

Grammar Revision: Infinitive (Part I1)
Text: Environmental and Health Impact of
Fertilizer Production

Nudpunurus (Infinitive)
B ¢pyHkumnu nogJiexkaniero

Ecmu mpennoxeHne HauynMHAaeTCs ¢ WHPUHHUTUBA, 33 KOTOPHIM
CJIEAyeT TJaroji-cCKa3yeMoe, TO ITOT WH(MUHUTHUB SIBJISICTCS MOJIC-
JKAIIUM, U TIEPEBOJIUTCS HA PYCCKUH SI3BIK IJ1aroJioM B HEOTIPEICIICH-
HOW (pOopME UITH CYIIECTBUTEIHHBIM.

B ¢pyHkumnu 00cTOATENBCTB eI U CJIeICTBUSA

NudunutuB (vnu MHQUHUTUBHAS TpyMma, T. €. UHOUHUTHB C
YTOYHSIONIMME €T0 CJIOBaMH), HaXOISICh B Hadaye IMPEIIOKEHUS,
MOJKET BBINOJHATH M JPYTyl0 (QYHKIHIO: OH MOXKET OBbITh HE MOJIe-
JKaluM, a 00CTOATENBCTBOM IeiH. Takoi WHOUHUTHUB 4YacTO BBO-
JTUTCSI COI030M IN Order (umobwl, 0ist mo2o umoodwl).

OnHako coro3 in Order 4acto omycKaercsl, ¥ TOTAa NPeIoKEeHUES
HauMHaeTcs ¢ MHPUHUTHBA (WM MHOUHUTUBHON rpymmsl). [Ipu me-
peBOJIe Ha PYCCKUH SI3BIK Tepe]] TaKUM HH()HUHUTHBOM CJIEIYET JIO-
0aBUTH COI03 YMOObI.

Wtak, vHQUHUTUB B Hauase MPEASIOKEHUs IEPEBOIUTCS Ha pPycC-
CKU S3BIK MO0 HeompeaeneHHoW (opMoil riarona (€ciau 3TO UH-
¢buHUTUB B (YHKIHMH MOJIEXKAIIEr0), MO0 HeompeaeneHHon ¢op-
MO TJIarojia ¢ COI30M ymooOwl (€Clnu 3TO WHGUHUTUB B (PYHKIIUU
00CTOSATENHCTBA LIEIIH ).

CpaBHure:

1. To create jobs for young people means to lower juvenile de-
linquency.

2. To create jobs for young people the government allocated ad-
ditional means.

CrnenoBatenbHO, OOHAPYKUB B Hadase MpeIoKeHUs] UHPUHUTHB,
HAJI0 CHayasa MOMbITaThCsI IEPEBECTH €r0, He JOOABIISISl COI03a Ymoobl
(B mepBom mpumepe: «Cozdasamv pabouue mecma OJisi MOA0OEHCU
03Hayaem CHUNCAMb YPOGEHb NPECMYNHOCIU cpedu Monooedxcuy). Ec-
JIM 3TO HE yhaercs (BO BTOPOM MpUMEpE), 3HAUUT, CIEAYyeT N00aBUTh
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COI03 umoodwl. « Ymobwi cozoamev pabouue mecma 0Jisi MOAOOENCU, NPA-
BUMENLCMBO 8b10ENUNI0 OONONIHUMEIbHbLE CPEOCTNBA .

NupuHUTUB B (QYHKIUU OOCTOSTENBCTBA LIETH MOXKET HAXO-
JTUTHCS HE TOJBKO B Havalle MPEAIOKEHHUS, HO M MOCIIE TOTIOTHEHUS
WK 00CTOSTEIbCTBA, IIPHUYEM COI03 iN Order u B 3TOM Cilydae 4acTo
OITyCKaeTcsl.

NHPUHUTHB B NMpEUIOKEHUN BBITIOIHACT Takke (PyHKIHIO 00-
CTOSITENILCTBA CJICJCTBHS M MEPEBOAUTCS HEOIPEIeIIEHHOW (opMOi
PYCCKOTO TJIaroJia ¢ COr30M umobwl (0151 mo2o umobwt) 1OCIE CIOB
enough (docmamouno) u t00 (cruwxom). Hanpumep:

The average wage in this industry is high enough to attract
workers from other industries.

The wage in this enterprise is too low to attract qualified workers.

Cpeonsa 3apabommuas niama 6 3mot Ompaciu O0OCMAMOYHO
8b1COKA 0151 MO20, YMOoObL NPUsIedb paboyux u3 Opy2ux ompaciel.

3apabomnas nrama Ha dmom NPEONPUAMUU CIUWKOM HUZKAS,
YUmooOwl NpUBLEtb KEAIUDUYUPOBAHHBIX PADOUUX.

NudunntuBHbii 060pot «for +cymecrBurenbHoe /
MecToOMMeHNe + HH(PUHUTUB)»

Oo6oport «for + cymiecTBuTeIbHOE (INYHOE MECTOMMEHHE B 00b-
€KTHOM TMaJIe)Ke) + WHPUHUTHBY SIBISICTCS B TPEIONKCHUH TOJIJIC-
JKaIUM, eClTi yroTpebisiercs mocie cioB it is necessary / important
/ possible u T.. WM 0OGCTOATENLCTBOM CIEACTBHS IOCIE CIIOB t00
(cruwxom), enough (0CTATOUHO) WK OOCTOSATENBCTBOM Ienu. Bo
BCEX CIIy4asX HUH(DUHUTUBHBI OOOPOT COOTBETCTBYET PYCCKOMY
MPUIATOYHOMY MPEATIOKEHUIO C COI30M umobdvl, a UHQUHUTUB B
TakOM TIPUJATOYHOM TPEUIONKCHUHM TEPEBOJUTCS CKa3yeMBIM.
Hampuwmep:

It is necessary for society to allocate resources sparingly.

The production costs in the enterprise are too high for it to work
profitably.
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B pynkumnu onpeneneHus

WuduanTrB v uHOUHUTHBHAS TPYIIA, CISAYIOMINE 32 CyIle-
CTBUTEILHBIM, MOTYT SIBJISITHCSI ONPEJCICHHUEM K 3TOMY CYIIECTBU-
TEIbHOMY.

NuduautuB B QyHKIMU ONpeaeeHUS] MOXKET MEePEeBOAUTHCSA Ha
PYCCKHI S3BIK pa3IMYHBIMU CIIOCO0aMU:

1. UnpuHUTUB IEpeBOAUTCS HEOIPEACICHHON (hOpMOH PyCCKO-
o rJjiaroja.

2. UHpUHUTHUBY COOTBETCTBYET B PYCCKOM S3bIKE OMpEIeIH-
TeIbHOE MPUIATOYHOE MPEUIOKEHHE, HAUMHAIOLIEECs CIOBAMH KO-
mopblil 6yoem WU Komopwli dondced. CkazyemMoe TaKkoro Mpujaa-
TOYHOTO TMpesioKeHus o0003Ha4yaeT MAecTBHE, KOTOpPOE JOJKHO
npou3oiTH B OyayuieM. UHOUHUTUB, MEpEeBOAUMBIN MPHUIATOYHBIM
npeIoKEeHHEM, Yallle BCEro MMeeT maccuBHyio ¢opmy (to be used,
to be produced u T. 1.).

The Gross National Product per head is an important character-
istic to be considered in determining living standards. —Banosoti
HAYUOHAIbHYIL NPOOYKM HA OYULY HACENeHUsl — 3MO BANCHASL XAPAK-
mepucmuKa, Komopas OO0JNHCHA NPUHUMAMbCA 80 BHUMAHUe NpU
onpeoeneHul YPOoBHs HCUSHU.

NH(UHUTUBY COOTBETCTBYET B PYCCKOM SI3bIKE OINpEAeTUTENb-
HOE MPUJATOYHOE NPEJIOKEHNE, HAUMHAIOUIEECS CIIOBAMU KOTOPBIN
MoskeT. CkazyemMoe TaKoro IpUIaTOYHOrO MPEIOKEHN 0003HaYaeT
JeficTBUE, KOTOPOE MOKHO IIPOU3BECTU C ONPEEISIEMbIM CYILIECTBU-
TenbHbIM. IHOUHUTHUB UMEeT, KaK MPpaBujIo, MacCUBHYIO (GOpMYy.

1. Translate the sentences with the Infinitive as a subject.

1. To study botany is necessary for future agronomists. 2. To
plow, sow and cultivate the soil is very important for obtaining good
yield. 3. To apply organic matter to the soil means to improve soil
productivity. 4. To classify farm crops agronomically according to
their use is very important. 5. To develop new variety of this crop
was very difficult. 6. To increase the yield of the crop was the main
problem of plant breeders. 7. To find new uses of plants is very im-
portant for scientists. 8. To study the structure of the plant is the first
task of any agriculturist.
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2. Translate the sentences paying attention to the functions

of the Infinitive.

1. To develop good tubers potatoes need sandy or sandy loam
soil. 2. Fine soils can store enough moisture for crops to grow nor-
mally. 3. To produce high yields crop plants require an adequate
supply of plant nutrients and water. 4. Crops also require minerals in
order to grow well. 5. The climate of this area is too cold to cultivate
corn. 6. To apply fertilizers is the most usual practice in cultivating
most crops. 7. For soil to produce good crops, it should be not too
acid or too alkaline. 8. In order to improve the structure of this soil
we must supply it with organic matter. 9. To get good results the
plant grower must know the properties of the soil cultivated. 10. To
prepare the proper seedbed is very important for obtaining good re-
sults. 11. The soils in our region are too heavy to provide normal de-
velopment of tubers. 12. Legumes can be grown to improve soil fer-
tility. 13. For soil moisture to be high enough irrigation is often nec-
essary.

Text

1. In spite of the fact that fertilizers are widely used on vari-
ous agricultural farms, the production and usage of them has
harmful effect on the environment. Before you read the text
agree or disagree with the following statements:

A. Air pollution is one of the greatest problems facing mankind.

B. Emissions from fertilizer production are not harmful for the
environment.

C. Nothing can be done with the environmental problem.

2. Read the text and find out if it is possible to prevent or
diminish the pollution of atmosphere from production and utili-
zation of fertilizers.

To solve this problem use the pragmatic strategy. That is com-
bine your background knowledge with the information derived
from the text. Besides, pay attention to the heading, subtitles and
key words.
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ENVIRONMENTAL AND HEALTH IMPACT
OF FERTILIZER PRODUCTION

Fertilizer production, like all industrial activities impinges on the
locality and its environment:

— directly through emission

— indirectly through heavy traffic, contribution to employment,

etc.

The emissions from fertilizer production depend on a number of
factors: the raw materials, the processes, effluent treatment, standard
of control, operation and maintenance, factory history: old facilities
were designed with less emphasis on pollution control than compara-
ble new factories.

Only general indications of emission levels can be provided be-
cause of this complexity. Individual cases must be evaluated on their
merits and local conditions.

Fertilizer factories emit Ammonia, Nitrogen oxides, Nitrous ox-
ide, Fluoride to the air and Ammonia and nitrate, Phosphate, Fluoride
to the water.

The upper part of the range can be found in old plants, while
modern facilities show lower losses. Fertilizer factories also emit
dust and industrial noise. All compounds are not relevant for all in-
stallations, e.g., phosphate and fluoride come only from the produc-
tion of phosphate fertilizers.

Some 2-3 per cent of the world’s fossil fuel consumption is used
for fertilizer production; this generates a corresponding amount of
carbon dioxide.

Solid waste

Gypsum (calcium sulphate) is a mineral which also occurs in na-
ture. Some 10 tonnes gypsum/t phosphorus is formed as solid waste in
phosphate fertilizer plants which use sulphuric acid for acidulation.

This gypsum also contains part of the other elements present in
phosphate rock. It has been common practice in the industry to pump
gypsum into the sea, where it gradually dissolves. Gypsum is a natu-
ral constituent of sea water. In some places, restrictions on the dis-
posal of gypsum into the sea have been introduced. In other areas,
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disposal into the sea is permitted subject to restrictions on the cadmi-
um content of the gypsum. Disposal on land is also used. Processes
for cadmium removal in phosphate fertilizer production will eventu-
ally produce a waste that must be given appropriate attention.

Production, transport and storage of ammonia and ammonia ni-
trate are subject to regulations designed to ensure safe operations and
prevent fires and explosions. Nitrate fertilizers can decompose in
fire, e.g., in burning storage buildings, and release toxic nitrogen ox-
ide gases. Storage of such fertilizers is a subject to regulations. The
risk of decomposition depends on the fertilizer composition. Some
mixtures of fertilizer compounds can self-sustain decompositions on
heating. The need for avoiding these compositions limits the range
of possible formulations.

Dust exposure is the main occupational health problem in ferti-
lizer manufacture. It is not an industry associated with unusual levels
of cancer incidence. But use of asbestos for heat insulation was pre-
viously a common practice in industry. This was also the case in fer-
tilizer production, and some tragic cases of lung cancer due to asbes-
tos occurred.

3. GROUP WORK: A DEBATE

The theme of this short debate is “The Usage of Chemicals
Should be Forbidden”. Decide if your group will support it or
will speak against it. Work with your partner to present argu-
ments in favour of your decision then start debating with a team
that takes opposite sides.

For this look through the above 2 texts and find information
about pros and cons of using fertilizers in agriculture. Which
strategy do you prefer in this case?

4. Exclude some detailed information and write down the
gist of the text.
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Unit 3

Grammar Revision: Conditional Clauses
Text: Weather and Climate: the Greenhouse
Effect and Agriculture

Yci10BHbIE NPUAATOYHBIE MPEIJI0KEH U
(Conditional Clauses)

VCaoBHBIE TPEATIOKEHUSI MOTYT BBIpaXKaTh peabHbIC, MajOBe-
posiTHbIe (YCIIOBHBIC MPEUIOKEHHs | THa) U HepealbHbIC YCIOBHUS
(ycnoBHble npeanoxenus Il tTuna).

YcaoBHbie mpeasiokenus I Tuna

YcnoBue, copepKaiieecss B yCIOBHOM MPHIATOYHOM MPEITIOKE-
HHUH, PACCMATPHBAETCS TOBOPSIIUM KaK PEalbHO IMPEINoaraeMblii
(haKT, OTHOCSIIMIACS K HACTOAIIEMY, MPOIICAIIEMY WK OyaylmieMy
BpeMeHam. Cka3zyeMble TJIABHOTO M TMPHIATOYHOTO MPEIOKCHUH
BBIPAXKAIOTCS IJIaroJiaMu B (POPMax U3bSIBUTEIBHOTO HAKJIOHCHUSI.

If the weatheris nice, we go for a walk.— Ecmu nozooa
Xopowasi, Mbl XOOUM HA NPO2YIKY.

If the weather was nice, we went for a walk. — Eciu nocooa 6wina
Xopowasi, Mol XOOUIU HA NPOYIIKY.

If the weather is nice, we'll go for a walk. — Eciu nozooa 6yoem
xXopowasi, Mbl ROUOEM HA NPOSYIIKY.

Ycaosubie npennoxenus Il tuna

YcnoBue, copepxkaiieecss B yCIIOBHOM MPHUIATOYHOM MPEITIOKE-
HUH, PACCMATPUBACTCS TOBOPSIINUM KakK MajioBepositHoe. J[Jsl BbIpa-
KECHUSI MAJIOW BEPOSITHOCTH OCYIICCTBIICHHS JICHCTBUS B HACTOSIIIEM
Wi OynynieM BpeMeHaX CKa3yeMoe TJIaBHOTO TPEIUIOKEHHS YIIO-
Tpebnsiercs B popme cocnararensHoro HakiaoHenus should / would +
Indefinite Infinitive 6e3 to, a ckazyemoe MpUAATOYHOTO MPEATOKESHUS
— B (¢opMe coclaraTeqpbHOr0 HAKJIOHEHUS, aHalorn4Hou Past
Indefinite nim were muis Beex mur ot miiaroia to be.

If he were free, he would doit. — Ecau 661 on 6611 ceo600en,
OH Dbl 5mo coenai.
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If we paid more attention to grammar, we should know the lan-
guage better. — Ecau 6v1 Mol yoensinu epammamuxe 6oavbue 6HUMA-
HUsl, Mbl Obl 3HAIU A3bIK TyYUE.

Ycaosubie npensioxkenus 111 Tuna

YcnoBue, colieprKaiieecs B yCIOBHOM MPHUIATOYHOM TIPEIIOKe-
HUH, PAaCCMATPUBACTCS TOBOPSIIUM KaK HEOCYIIECTBUMOE, TaK Kak
OTHOCHTCSI K npoutiomy BpeMeHu. Cka3zyeMoe TJIaBHOTO IPEIIOKE-
HUsI ynoTtpeoisiercss B popme cocnaratenbHoro Hakinonexus should /
would + Perfect Infinitive, a ckasyemoe mpuaaToOYHOrO MpeaIoxKe-
HUS B (opMe coclaraTelIbHOrO HAKJIOHEHHWs, aHAJIOTWYHOM Past
Perfect.

I should not have been late yesterday, if my watch had been
Write. — £ 6b1 He ono3zoan suepa, eciu Obl MOU YACHL WU NPABUTBHO.

Co103bI YCJIOBHBIX NIPUAATOYHBIX NP EAI0KEHU I

if — ecnu; in case — 6 cayuae, ecau; suppose (that) — npeonono-
arcum, umo; on condition (that) — npu ycrosuu, umo; provided
(that) — npu ycrosuu, umo; unless — ecau ... ne; but for — ecau 6w ne.

1. Complete the sentences.

1. If people (not to drink), they (to die). 2. If you (to eat) bad
food, your health (to become) worse. 3. If you (not to feel) well, you
(to go) to the doctor. 4. If babies (to be) hungry, they (to cry). 5. If |
(to be) thirsty, I always drink fresh water. 6. If Tom (to have) a birth-
day party, he usually (to invite) a lot of friends. 7. If Mary (to do) her
homework well, her teacher always (to praise) her. 8. If I (to have) a
headache, my mother usually (to give) me some medicine. 9. If | (to
cough), I (to drink) hot milk with honey. 10. If you (to fly) by a
budget airline, you (to have) to pay for your drinks and food. 11. If
we (to be) late for school, our teacher (to get) angry.

2. Translate the following sentences into Russian.

1. I'll ask Tom if I see him today. 2. We would go to the party if
we had time tomorrow. 3. She would pass her exam next month if
she worked harder. 4. She would be happy if she met him at the party
next Sunday. 5. We’ll go nowhere tomorrow if it rains. 6. If she
knew his phone number, she would call him next week. 7. If J. Lon-
don had not learned life from his own experience, he could not have
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written his great works. 8. Had the science of radio not been devel-
oped so rapidly, we should not have got such remarkable changes in
the technique today. 9. Had he been a young man, he would have
taken part in the expedition. 10. If you had applied this method, you
would have got better results.

3. Fill in the gaps with the suitable verb form.

1. The trains all (stop) ... if it snowed heavily.
2. If you (go out) ... in cold weather without a coat, you would catch
a cold. 3. If I saw a cheap second- hand car, I (buy) ... it.
4. If you ate well and exercised regularly, you (live) ... 100 years. 5.
You would have had stomach ache if you (eat) ... too much of that
cake. 6. If it (rain) ... this afternoon, I (take)... my umbrella. 7. If
you did not drive carefully, you (have) ... an accident. 8. If you
(study) ... for a higher qualification, you (get) ... a better job next
year. 9. If you sent the letter by first class mail, it (get) ... there the
following day. 10. If the weather is fine, we (go) for a picnic.

Text

1. One of the most pressing problems facing all of us is that
of the gradual warming of the earth’s atmosphere. Do you know
the causes of this problem?

2. Before reading the text “Weather and climate: the green-
house effect and agriculture” agree or disagree with the follow-
ing statements:

1. Farmers are greatly dependent on weather changes.

2. The heat balance of the atmosphere is influenced by some of
the components of the air that are present in only small amounts.

3. The increasing atmospheric concentration of gases which influ-
ence the warming of the air doesn’t connected with people’s activities.

3. Scan the text to answer the following question:

How does the production of fertilizers influence the global
warming?
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To answer this question look through the text quickly to find
more essential information. Try to avoid looking for details. Get
the meaning of unfamiliar words by looking at the context. If it is
impossible, consult the dictionary.

WEATHER AND CLIMATE: THE GREENHOUSE
EFFECT AND AGRICULTURE

Agricultural yields are very dependent on weather. There are in-
dications that extreme weather conditions now occur more frequently
than in the past. If true, this instability will influence agriculture and
increase the need for food reserves. Unfortunately, accurate long-
term weather forecasts are probably impossible. Some compensation
for weather vagaries is possible by irrigation, but apart from this little
else can be done with weather.

One aspect of the climate now attracting political attention is the
problem increase in the earth’s average surface temperature due to the
“greenhouse effect”. The heat balance of the atmosphere is influenced
by some of the components of the air that are present in only small
amounts: carbon dioxide, methane, nitrous oxide and the chlorofluoro-
carbons. These gases absorb infra-red (heat) radiation from the earth.
The concentration of these gases in the air is increasing and thus the ca-
pacity of the atmosphere to retain heat. It is feared that this will give a
global temperature rise and thus influence climate.

The increasing atmospheric concentration of these gases is due
to human, domestic and industrial activities. The increase appears to
have started with industrialization and became especially noticeable
after the Second World War.

The influence of these gases on global temperature and climate
is very complex. Other factors are also involved, such as regional
pollutants (e.g., ozone), water vapour and clouds, and changes in the
earth surface reflectance due to deforestation and other land use
changes.

There is a growing consensus that the increase in the concentra-
tion of greenhouse gases gives cause for concern. The observed
trends must eventually change the global surface temperature or the
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atmospheric circulation pattern, or both, but the size and timing of
any effects are a matter for current debate.

In principle the emissions of chlorofluorocarbons should be
those easiest to reduce or eliminate. These are man-made industrial
chemicals. There is now international agreement that their use should
be greatly reduced and preferably eliminated.

The main concern is increasing concentration of carbon dioxide.
Burning of fossil fuel emits carbon dioxide to air.

Forests contain carbon. When trees are replaced by grassland or
crops with less standing biomass, carbon is liberated as carbon diox-
ide. The present rate of decline in forest area results in a substantial
input of carbon dioxide to the atmosphere, though somewhat less in
magnitude than the burning of fossil fuels.

Agricultural practices such us tillage, fertilization, manuring,
crop residue management and drainage all influence nitrogen trans-
formation processes in the soil and may therefore influence nitrous
oxide emissions. Knowledge required to give guidelines on how to
minimize such emissions is largely lacking. Nitrate application on
excessively wet or waterlogged fields can increase nitrous oxide
emissions from the soil, but it is not usual to fertilize under such
conditions. Research on the influence of agriculture on nitrous oxide
formation is now being undertaken in many institutions, but im-
proved measurement methods for field emissions are needed.

4. Refer to the text once again. Scan it quickly and find out
new information about the ways of rejecting the greenhouse ef-
fect. Represent them in the diagram. To search for the necessary
information make use of the strategy of skimming, ranking in-
formation and cohesion.

5. Divide the text into several parts. Find the key sentences in
each part. Sum up the content of the text.
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Unit 4

Grammar Revision: Sequence of Tenses
Text: Erosion of Soil

CoraacoBanue BpemeH (Sequence of Tenses)

B aHrmmiickoMm  s3plke  ymoTpeOJieHUEe BPEMEHH IJiarosa-
CKa3yeMOoT0 B MPUAATOYHOM MPEJIOKEHUH 3aBHCUT OT BPEMEHH IJ1a-
rojia-CKa3yeMoro B IIaBHOM IMPEUIOKEHUH. DTO HA3bIBACTCS MTPABU-
JIOM COTJIaCOBaHUS BPEMEH.

[TpaBuio cormacoBaHus BpEMEH 3aKIIFOYAETCS B CIEAYIOIIEM:

Eciu B rmaBHOM TpeIOKEHHUH TJIaroji-cKa3yeMoe CTOUT B OJI-
HOW M3 (OpPM HACTOSIIETO WIM OyIylmIero BpEeMEHH, TO TJIaroii-
CKazyeMoe B MPHUJIATOYHOM IPEIJIOKCHUN MOXKET CTOSATh B JIHOOOH
BpeMeHHOHU (opme, KOTopast TpeOyeTCsl IO CMBICTTY:

He says that he was busy yesterday. — Ow 2o6opum, umo 6win 3a-
HAM 84epa.

He says that he will be busy tomorrow. — Ou cosopum, umo 6y-
oem 3aHam 3a8mpa.

He says that he is busy. — On 2cosopum, umo 3auam.

Ecnu B ri1aBHOM TpeIOKEHUH TIIaroj-cka3yeMoe CTOHWT B O/
HOH u3 (HOpM TPOLIEIIET0 BpEMEHH, TO B MPUAATOYHOM IIPE 0K e-
HUU TJIaroJI-CKa3yeMoe HYKHO yIOTpeOIsTh TaKKe B OAHON U3 popm
HPOILIEANIEr0, 8 HMEHHO:

1. Ecnu neiicTBUe TPUIATOYHOTO TIPEIIOKEHHS TPOUCXOIMT
OJTHOBPEMEHHO C AEWCTBHEM TJIAaBHOTO NPEAJIOKEHUs, TO B NpHUaa-
TOYHOM TPEUIOKEHUH YIOTPeOseTcs Iaroi B oJiHoi u3 ¢popm Past
Simple or Past Continuous:

He told me that he studied here. — On cxazan mue, ymo y4umcsi
30ech.

She said she was preparing for a report. — Ona ckazana, umo
20MOBUMCsl K OOKAAOY.

2. Ecim neiicTBre MPHUIATOYHOTO TPEIIOKEHHSI TPEANISCTBYET
JCWCTBHIO TJIABHOTO TPEIOKEHHS, TO B NMPUAATOYHOM IIPEIIIONKe-
HHUH yoTpeOsieTcs riaroi B ofHoi u3 ¢popm Past Perfect:
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The rector said that the Moscow Higher Women's Courses had
been reorganised into the Second Moscow State University. —
Pexmop ckazan, umo Mockosckue svicuiue dceHcKue Kypevl Ovliu
npeobpazosanvl 60 Bmopoii Mockoeckuti ['ocyoapcmeennsiii Yuu-
eepcumenm.

3. Ecnm peiicTBUe NMPHUIATOYHOTO TMPENTIOKEHUS OTHOCUTCS K
OyayiieMy BpeMEHH, a B TJIABHOM JICHCTBHE OTHOCHTCS K TPOIIE]-
IeMy, TO TJIaroj-cKazyeMoe J0JDKeH crosith B Future-in-the-Past.

®opma Future-in-the-Past oGpasyeTcs 0T COOTBETCTBYIOLIEH
dopmer Future Simple, Ho BMecTo BermomorarenpHoro riaronaa Will
ynotpebusiercs would:

I thought I would know the way this time, but | was wrong. —

A oyman, ymo Ha smom pas s Y3Haro 00pocy, HO 51 OUUOCAL.

B cienyromux ciaydasx MpaBUJIO COTIACOBAHUS BPEMEH HE CO-
OyroaeTcs, T.e. HE3aBUCUMO OT BPEMEHHOH (OpMBI TIIiaroja-
CKa3yeMOro B TJIaBHOM TPE/JIOKEHHH B IPUIATOYHOM MPEITI0OKECHUH
TJIaroJI-CKa3yeMoe ynorpeossercs: B J1i000i BpeMEeHHOH (opme, Ko-
Topasi TpeOyeTcs 10 CMBICITY:

1. Ecnmu B cocTaB CKa3yeMoro B MPUAATOYHOM IPEIJIOKECHUU
BXOJUT OJMH W3 CIIEAYIONMX MOJAIbHBIX TiaroyioB: must, ought,
should:

I knew that he must come to the Academy by 3 o'clock. —4 3nuan,
YUMo OH OO0JIdHCEH NPULIMU 8 AKAOeMUIo K 3 4acam.

2. Ecnu B mpuaTOYHOM MpEAIokKeHUH cooduaercs 00 oomiens-
BECTHOM (PaKTe WIIM HEONIPOBEPKMUMOIN HCTHUHE:

The teacher told the pupils that Novosibirsk stands on the both
banks of the river Ob. — Yuumenwv paccrkazan yuenuxam, umo Hoso-
cubupck pacnonodxcer na oboux bepezax pexu Obv.

3. B mpumaTto4HBIX OMpEeNeNUTENbHBIX TMPEIIOKEHUSIX U B
MPEIIOKEHUSIX, BBOJUMBIX COIO3HBIMHU CIIOBAMHM 8S Kak, B Kade-
ctBe, than yem:

It was not so cold yesterday as it is today. — Buepa ne 6vi10 max
XOJIOOHO, KAK Ce200HA.

4. Ecnu neiicTBUe MPUIATOYHOTO NPEIJIOKEHHS MPEAIIeCTBYET
JIEMCTBUIO TIIABHOTO TIPENIOKEHHSI, M BPeMsl IEHCTBHS PUAATOYHO-
r'0 IPeSIOKEHHs! YKa3aHO TOYHO:
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I knew that she left Moscow in 1945. — 4 snana, umo ona yexana
u3 Mockewt 6 1945 200y.

Ho:

I knew that she had left Moscow some years ago. — A suana, umo
oHa yexana uz Mockevl HecKoIbKO Jlem HA3ao.

1. Open the brackets and put the verbs into the correct
forms.

1. I knew they (to wait) for me at the metro station and | decided
to hurry. 2. I didn’t know that you already (to wind) up the clock. 3. |
was afraid that the little girl (not to be) able to unlock the front door
and (to go) upstairs to help her. 4. He says that he (to know) the laws
of the country. 5. Sarie understood why Lanny (not to come) the pre-
vious evening. 6. She asked me whether | (to remember) the legend
about a faithful lion. 7. He understood that the soldiers (to arrest)
him. 8. He could not understand why people (not to want) to take wa-
ter from that well. 9. | suppose they (to send) a dog after the burglar
immediately. 10. He said he (to leave) tomorrow morning. 11. She
says she already (to find) the book. 12. He stopped and listened: the
clock (to strike) five. 13. She said she (can) not tell me the right time,
her watch (to be) wrong. 14. | asked my neighbour if he ever (to
travel) by air before. 15. The policeman asked George where he (to
run) so early. 16. The delegates were told that the guide just (to go)
out and (to be) back in ten minutes.

2. Correct the mistakes.

1. Mike told the policeman that he lost his identity card. 2. Jane
said to Dick that Julia doesn’t live next to her. 3. She told the detec-
tive that she sees the thief in the house. 4. He said that he ate nothing
since morning. 5. My girlfriend told me that she was ready in a few
minutes. 6. Tom’s boss said to him that he hasn’t done the work
properly. 7. Anna said that she doesn’t want to wear her old dress.
8. Her brother told her that they will have plenty of time to do their
work.
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Text

1. Before reading the text “Erosion of soil” decide which of
the following statements you agree or disagree with:

1. Erosion of soil gives cause for concern in agriculture.

2. Erosion is of special concern in areas such us the humid trop-
ics and the deserts.

3. Plants play a very important part in conservation and protec-
tion of soil.

4. There is no way to reduce erosion of soil.

2. Scan information given in the text and find how the use of
fertilizers influence erosion of soil.

Use the strategy of selective reading. To practice it pay atten-
tion to the italicized phrases.

EROSION OF SOIL

Soil erosion is the removal of soil from the land through the ac-
tion of wind or water. It is a natural process that occurs even without
human intervention. However, most forms of agriculture increase the
erosion potential, especially practices that leave the surface of erodi-
ble land unprotected. Excessive erosion is a matter for serious con-
cern. In a sustainable agriculture, soil erosion should not exceed the
slow process of soil formation, and the prevention of soil erosion is a
key issue in increasing the sustainability of agriculture.

Excessive erosion occurs with large variations in extent and
causes between and within regions. It is difficult to measure and
evaluate the gravity of the problem, but erosion is of special concern
in areas such us the humid tropics, along the deserts and in parts of
North America. In Europe, erosion is most serious in the Mediterra-
nean regions.

Soil erosion by water generally begins where raindrops strike
bare soil. Soil aggregates are broken up, the surface compacted, and
water infiltration into the soil obstructed. Water with suspended fine
soil particles runs off as surface water, giving sheet erosion, where a
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thin layer of surface soil is removed. The water flowing over the soil
surface can form networks of eroding channels that cut into the top-
soil. In the worst cases deep gullies are formed. Suspended particles
increase the water density and channeling increases the velocity of
water flow. Consequently, erosion starts gently and then rapidly ac-
celerates.

The removal of forests has reduced water infiltration into soil in
catchment areas and increased flood frequency and destructiveness.
Floods enhance erosion.

Eroded material eventually settles out, filling up water reservoirs
and estuaries. The silt deposit can improve the fertility of the receiv-
ing areas, but in general soil erosion degrades agricultural land.

Wind erosion occurs when bare soil is exposed to drought and
wind, e.g., the dust bowl in the USA in the thirties and more recently
in Russia.

It follows from the mechanism of erosion that:

— sloping land is at greater risk than flat land, sloping land left
fallow during the winter is at special risk

— erosion risks vary with soil type and structure

— vegetation reduces erosion, as leaves intercept raindrops and
roots prevent channeling.

Overgrazing has damaged fragile grasslands and caused serious
erosion, e.g., in Africa.

Ploughed land is at greater risk to erosion than grasslands. Spe-
cialized arable cropping generally suffers more erosion than mixed
farming because with mixed farming part of the land is under grass
and more organic matter is available for return to the arable part of
the land. This gives some protection against erosion.

The extent of erosion is greatly influenced by soil management.

Techniques are available for reducing soil erosion, e.g., water
interception with soil banks, strips of grass or forests, contour
ploughing, use of winter or catch crops, intercropping, mulching, no-
till practices, drainage, terracing, forming horizontal patches of land
on steep hills, a characteristic man-made landscape feature both in
South-East Asia and elsewhere.

Proper fertilizer use can help minimize erosion by ensuring an
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ample supply of roots and plant residues. Where erosion has removed
topsoil, liming and fertilization help the reestablishment of a good
plant cover.

3. What words/ideas would you associate with the notion
Erosion of Soil?

Refer to the texts you have already read looking for cog-
nates. Do you remember that cognates in technical texts are usu-
ally expressed by special terms? A beginning has already been
made for you:

removal of soil, ...

4. Write your own opinion on how to prevent the erosion of
soil.

5. Here are some of the greatest threats to the world’s envi-
ronment and their causes. Match them. Sometimes there are two
or three effects for one cause.

Threats Causes

1) pollution of rivers/lakes/oceans

a) burning of fossil fuel

2) global warming (greenhouse
effect)

b) rapid industrial development

3) damage to the ecological bal-
ance

c) overuse of natural resources

4) acid rain pollution

d) too much traffic

5) changes in the local climate

e) use of pesticides

6) extinction of plant and animal
life

f) unsatisfactory waste disposal

7) destruction of rainforests

g) motorway construction

8) air pollution

h) intensive tourism

9) energy shortage

i) uncontrolled cutting of forests

10) human and industrial waste

J) uncontrolled hunting and fish-
ing
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6. Which in your opinion are the five worst threats? Com-
pare your list with your partner’s.

7. PROJECT WORK

Select one or two environmental threats in your own area
and make a plan for environmental action. For this evaluate the
information from the texts 1 -5. Make notes on the changes and
solutions you’ve suggested. List the steps you can undertake.

Unit 5

Grammar Revision: Gerund
Text: Alternative Agriculture

Iepynmnii (Gerund)

I'epynnuit — HenuuHas ¢opMa Tiaroia, MMEeT CBOWCTBAa Kak
ryiarojla, Tak M cymecTBuTesbHOro. IlonodHoit ¢popMbl B pycckom
a3bIke HeT. ['epyHIul MOXKET MepeBOIUTHCS Ha PYCCKHM S3bIK CYIIe-
CTBUTENILHBIM, TJIArOJIOM B JIMYHOW (opMe HIIM HEOTNPEIeTICHHOU
dopmoii riaromna, qeenpuyacTUeM.

['epynauit oOpazyeTrcsi OT OCHOBBI IJ1arojia ¢ MoMOIIb0 cyhPuk-
ca -ing: to translate — translating, to read — reading.

Tabnuma 5 — @opmel repyHIuS

Active Passive
Indefinite writing being written
Perfect having written having been written

®opmsbl repynaus coBmaaaroT ¢ Gpopmamu Participle | u Perfect
Participle. Onnako 310 pasHble (HOpPMBI TJarojia, OTIUYAOIIHECS H
10 3HAYCHHUIO ¥ IO CHHTAaKCUYECKUM (DYHKIIUSM.

®opwmer Indefinite Gerund o6o3HavarOT AEWCTBUS, OAHOBPEMEH-
HBIE C ICHICTBUEM, BBIPAXKCHHBIM TIJIar0JIOM-CKa3yeMbIM.
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He likes inviting friends to his place. — Or mo6um npuerawameo
opysell k cebe.

He likes being invited to his friends. — On ar06um, ko2oa ezo
npueiauaom K cebe e2o Opy3vs.

[Tepdextanie dopmbl repyraus (Perfect Gerund) oGo3nauaror
I[Cf[CTBPISI, MpEaACCTBYOIUC IIGIZCTBPIIO, BBIPAXXCHHOMY TIJIaroJIOM-
CKa3yCMbIM.

He is proud of having invited this man to his place. — Ou 2op-
oumcst mem, ymo npuziacui amozo yenoeeKka K cebe.
He was proud of having been invited to the party. — Or 2opouncs
mem, uno e2co npuciacuiu Ha eevep.

DOYyHKUMH FePYHAUA B IPEII0KEHUN

1. Momnexamee: Obtaining oil is no simple matter. — Jo6wviua
Hehmu — He neckoe 0eo.

2. Yacts ckasyemoro: Large ice masses stopped advancing. —
Kpynnvie maccol 1v0a npexpamunu osudiceHue.

3. Homonnenue: These minerals are worth extracting. — Smu
MuHepanvl cmoum 0006vi8amo.

4. Onpenenenue: Improved methods of observing atmosphere
are developed. — Paspabamvisaromest ycosepuieHcmeosanuvie me-
Moobl HAONOEHUs 3a AMMOCHeEPOLL.

5. O6crositenbeto: After watching the movement of clouds we
determined wind direction. — Habarooas 3a 0sudicenuem oo1axoe mol
onpeoenuiu HanpaesieHue gempa.

1. Comment on the forms and functions of the Gerund.

1. Glaciers are capable of carrying great loads of rock debris. 2.
Plants and animals derive energy by using atmospheric oxygen to
convert carbon in their foods to carbon dioxide. 3. Grain size usually
gives an indication of the rate of cooling. 4. Today standards of liv-
ing in Northern Europe are among the highest in the world. 5. Over
one half of the people who live in Southern Asia are involved in
farming. 6. The polar regions are too cold for farming. 7. However,
extracting oil in cold conditions would present extra problems. 8.
Many small fishing ports had to stop fishing. 9. To bring oil from
northern Alaska involved building through protected areas and na-
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tional parks. 10. Industry does not just mean making things. 11.
Farming has used more machinery and needed a smaller labour force.

2. Analyze the following ing-forms. State whether they are
participles or gerunds. Translate the sentences into Russian.

1. Applying fertilizers, we may essentially increase the yield. 2.
Farmers applying fertilizers to this crop usually obtain good results.
3. Farmers applying proper fertilizers, the yields are usually much
higher. 4. Having applied the soil with organic matter, the collective
farm obtained a good yield of small grains. 5. Being adapted to po-
tato growing, these sandy loams will produce tubers of the highest
quality. 6. Among the factors influencing crop production climate is
the most important one. 7. Preparing the seedbed is one of the im-
portant operations in crop growing. 8. Planting the seed, we use farm
machines in order to make the work easier.

Text

1. Farmers face too many problems in plant growing:

Erosion of Soil

Exhaustion of Soil

Plant Diseases

Pollution of the Atmosphere

Diminished Quality of the Produce

Weed Infestation

The Global Warming

Insect Problems

Read the text “Alternative agriculture” and find out how
these problems can be solved in alternative agriculture.

While reading the text bear in mind the problems mentioned
above.
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ALTERNATIVE AGRICULTURE

Different alternative agricultural systems exist. Various
names are in use for such systems, e.g., natural, organic, biological,
sustainable or ecological farming.

The alternative agricultural systems differ greatly in their
basic ideas and recommended practices, but have in common that
they reject the use of soluble mineral fertilizers and pesticides.

Less than 1 per cent of the farms in Western Europe are pres-
ently practicing alternative farming. But in the last decade the
movement towards alternative agriculture has gained in popularity
and received official political recognition and support in the industri-
alized countries of the West. Today a main driving force is the mar-
ket’s demand for agricultural products made without the use of man
made chemicals.

Many people find aspects of current agricultural practices
disquieting and objectionable: pesticide residues in soil water and
produce, increasing nitrate concentration in many ground and surface
waters, landscape changes with reduced variety, animal husbandry
methods that are perceived as unnatural, degrading and wasteful de-
population of the countryside and costly production in excess of do-
mestic needs in developed countries.

Objections to the use of fertilizers are not based solely on the
perception of fertilizers as a cause of pollution, soil improverishment
and degradation, reduced plant resistance to diseases and diminished
quality of the produce. It is also felt that the easy availability of ferti-
lizers and pesticides has made possible practices that are regarded
with distrust such us specialized farming and intensive agriculture.

Organic agriculture is now a rapidly expanding sector. Its adher-
ents are concerned about an agriculture dependent on non-renewable
resources and about “unwholesome” food with residues of chemicals.
They fear degradation of the soil and are dismayed at many of the
aspects of animal treatment in intensive husbandry.

Organic and other alternative agricultural farms are of various
types depending on local conditions. Some are located in areas not
readily suited to arable crops, have most of their land as grass-clover

61



meadows and produce mainly milk and some meat. Some small
farms are specialized vegetable producers. But more typically, an
alternative farm will practice mixed animal arable farming with some
40 per cent of the land kept as grass-clover lays. Some of this is per-
manent grass; the rest is ploughed every 2—-3 years as part of the rota-
tion. Part or all of the cereals, roots and legumes may be used as feed
for the animals. The stocking rate should match the feed produced on
the farm, e.g., in Sweden about 0,6 cows or equivalent per ha used
for feed production. All animals are free range, none are permanently
confined.

The organic agricultural movement comprises groups that dif-
fer in their views on inputs of manure from other farms. Some re-
strict such inputs to manure from farms also practicing alternative
agriculture. Others permit substantial purchases of animal manure
from current farming enterprises provided these follow recognized
standards for animal welfare. The latter group support their own pro-
duction by fertilizer use on these other farms.

So in alternative agriculture nutrient losses are compensated
through: growing legumes for their nitrogen fixation; application of
ground mineral rocks (e.g., stone, phosphate rock, limestone) to sup-
ply phosphorus, potassium and other elements.

Soluble mineral fertilizers are not allowed, especially not nitro-
gen. Rock phosphate and other nutrient minerals with a low solubili-
ty can be used. Weed are removed or damaged by mechanical soil
treatment or the use of fire. Extensive crop rotation and intercropping
are adopted while monocultures are avoided.

Soluble fertilizers are regarded as detrimental to soil life and
proper crop development, as they give “unnatural” soil conditions
through enhanced nutrient concentrations. This is said to disturb the
soil’s processes and ecology and to give an unbalanced uptake of nu-
trients by the plants. Soil nutrient inputs should instead enhance soil
nutrient reserves; the farmer should “feed the soil and no the plant”.
The supply of plant nutrients should derive from mineralization as a
natural process.

But cropping patterns in alternative agriculture differ from those in
specialized current agriculture. Grass-clover lays and fodder crops are
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necessary and extensive rotations are more common. Farms in alterna-
tive agriculture tend to have markedly less grain and meat production
than those in current agriculture, and produce a relatively larger propor-
tion of dairy products, potatoes, pulses and some vegetables.

There is a wide-spread impression that the quality of produce
from alternative farm is higher than that from current agriculture.
Evaluation principally concerns nutritional value, absence of noxious
compounds and taste.

Statements have been made that animals on alternative farms or
given feed from such farms have fewer fertility problems, remain
productive longer and in general have fewer health problems than
animals in current agriculture.

2. Many people find the usage of fertilizers objectionable.
Look back at the texts you’ve already read and write down your
pros and cons of using fertilizers in modern agriculture. Begin
with the strategies of scanning and selecting information. What
other strategies are of great help in this case?

AGAINST FOR
— cause of pollution — the exhaustion of soil
— pesticide residues in — to minimize erosion of soil
soil water and produce
— reduced plant resistance — effective means of controling
to diseases weeds, crop diseases and

other pests
— diminished quality of the
produce
— increasing nitrate concentration
in ground and surface waters
— the production of fertilizers
aggravates the global warming

3. There are several points of view on the problem of using
fertilizers in agriculture. What is your attitude to this problem?
Are your views closer to A, to B or to C? Skim the texts again
and find arguments to support your view.
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A We have to use various fertilizers and chemicals for different
purposes in agriculture because it is an effective means of improving
soil fertility, controlling plants against weeds, crop diseases, other
pests etc.

B Chemicals have to be combined with other methods because
if too high doses of pesticide are applied it may produce undesirable
effect.

C The use of fertilizers and chemicals should not be allowed be-
cause the production of fertilizers and chemicals impinges on the lo-
cality and its environment. Besides, today the market’s demand for
agricultural products made without the use of chemicals.

Part 111
AGROECOLOGY (Additional material)

TEXT 1

Active vocabulary:
environment — okpyskarorias cpeaa
to quadruple — yBenn4uBaTh B 4eThIpE pasa
to contribute — coco6¢cTBOBATH
to accelerate — yckopsThb
urban development — ropoackoe pa3sutue
expansion — paciipeHue, yBeaIndeHue, pocT
exploiting — skcrutyararus, HCIOIb30BAHNE
fossil fuels — mpuponHOe TOTITHBO
water bodies — Bogoemsl
residues — octaTku
feed supplements — mogxopMku
contamination — 3apaxenue
aquatic resources — BoJHbIC PeCypChI
food chain — mumesas ens
animal husbandry — >kHBOTHOBOJICTBO
amalgamation — ciusiHue, 0Opa3oBaHKe LENOT0 U3 YacTel
deterioration — yxymieHue
compaction — yrioTHeHne
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beneficial effects — 6irarorBopHOe BHsIHIE

well-being — 6xaronony4dne

“nutritional” security — nuieBast 6€301MacHOCTb

thriving — xoporio pa3BuBaroHiics

recreation facilities — pa3BiekareiabpHbIC yCITyTH

unseasonable weather — moro/ia, HeCBOWCTBEHHAsI BpEMEHH T0J1a
precipitation — ocagku

SEWwage — CTOYHBIC BOJIbI

Remember!

Critical reading as the process of making judgments in read-
ing is very important in solving different problems. It is useful to
evaluate what you have read and make a decision, but not to read
passively.

A critical reader seriously thinks about what she/he is read-
ing. This means that she/he:

— does not believe everything she/he reads;

— questions everything that doesn’t make sense to him/her;

— analyses arguments;

— discounts arguments based on faulty reasoning;

— has good reasons for believing some things and not believ-
ing others.

What words/ideas would you associate with the notion Agri-
culture and Environment?

Scan information given in the text and find how the use of
fertilizers influence erosion of soil.

Use the strategy of selective reading. To practice it pay atten-
tion to the italicized phrases

AGRICULTURE AND ENVIRONMENT

Agriculture has had a long positive association with the envi-
ronment, its production has quadrupled in this century alone, con-
tributing to accelerated urban development, industrial growth and
expansion of the service sector. But at the same time agricultural
pollution has increased and the quality of a number of rural land-
scapes has declined.
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Farming has become much more mechanized and more inten-
sive, with greater regional and on-farm specializatioa and greater
regional concentration. Exploiting mechanization and technology,
replacing man and beast with energy from fossil fuels, strengthening
the productivity of the soil and crop yields with fertilizers and pesti-
cides (pesticides are understood to include insecticides, herbicides
and fungicides), agriculture has evolved to a state where short term
profits can be made without maintaining the traditional harmony and
interdependence between agriculture and the environment which has
existed for centuries.

While agriculture still makes a significant contribution to the
landscape in many areas, because of a failure to integrate agricul-
tural and environmental policies the above changes have often
brought with them a number of significant problems. These prob-
lems, which vary in character and degree from country to country
and region to region, include concerns about:

— the human health effects of pesticide and fertilizer residues,
heavy metals, feed supplements and contaminants in soil, water bod-
ies, food products and the food chain;

— the decrease of biotopes valued for nature conservation;

— the contamination of ground and surface waters by nitrates
and phosphates leading to local health risks, declines in the quality
of aquatic resources, losses in recreation values and increased water
supply costs;

— agricultural pollution problems associated with the growth of
intensive animal husbandry;

— air pollution from intensive animal production, manure
spreading and crop spraying;

— the salinization of soils which is contaminating water supplies
and causing losses in soil productivity and landscape values;

— losses of landscape and wildlife habitat caused by the amal-
gamation of farms, the growing emergence of monocultures, the re-
moval of hedges, walls and terraces, the draining of wetlands and the
deterioration and destruction of traditional farm buildings;

— soil compaction, erosion and pollution which have led to
productivity losses, declines in the quality of water resources and
reduction in the capacity of water storages.
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Agriculture’s beneficial effects for the environment can only be
considered in the light of a clear understanding of what is meant by a
desirable environment. In the broadest sense, agriculture’s greatest
contribution to man’s well-being is to provide the food and the “nu-
tritional” security for the release of an increasing proportion of the
population into productive activities in other sectors. At the same
time, this has enabled man to enjoy increasing leisure time so that
we can pause, enjoy and profit from our environment. Agriculture
also has a special place in keeping the countryside inhabited, attrac-
tive and thriving. The presence of farmers and the maintenance of
farm buildings can also improve environmental quality.

The drainage of land farming has undoubtedly been a major
cause of the elimination of malaria and probably other diseases in
Europe and North America. Drainage and other soil cultivation op-
erations can have diverse beneficial effects on flood control and wa-
ter purity. On the other hand, some forms of cultivation on hillsides
encourage erosion, while other forms of cultivation can be possibly
beneficial effects on the environment.

Many of the phenomena now considered to pose significant
long-term threats to agricultural production are only now coming
under intense study. Among threats which have only relatively re-
cently been perceived are:

— increasing concentrations of CO, which, in addition to being a
factor in the “greenhouse effect” of atmospheric heating, may also
directly affect plant metabolism;

— increases in ozone concentration at the earth’s surface which
appear to be causing declines in crop yield;

— diseases in ozone concentration in the upper atmosphere,
which allow greater amounts of ultraviolet radiation to reach the
earth’s surface, with effects on plant growth;

— pollution of the soil by harmful chemical and physical agents
which has led to a decline in food quality and increased cancer risks;

— global climate changes, including prolonged periods of unsea-
sonable weather and an apparent trend towards atmosphere warming
which could have far-reaching affects on growing seasons and pre-
cipitation.
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In other cases, the long-term negative impact on agriculture of
well-known pollution like water and air pollution from industry and
sewage spreading on agricultural land are only now being quantified.

Although by definition unpredictable, nuclear and industrial ac-
cidents like Chernobyl have brought major pollution of soil and wa-
ter resources, loss of agricultural output and the need for significant
financial compensation by governments.

In several countries, pollution from other sources has led to re-
gional declines in the quality of food production and, the quantity of
food produced.

In summary, the nature, intensity, and extent of the acid deposi-
tion, photochemical oxidants and sewage in agriculture remain large-
ly unknown. There is need for more research such as cause-effect
and, as a second step, limiting needs have still to be clarified at pre-
sent levels of acid deposition.

Thus, both agriculture and environment today need human pro-
tection.

QUESTIONS:

1. Why is the traditional harmony and interdependence between
agriculture and the environment destroyed?

a) because of the accelerated urban development;

b) because of exploiting mechanization and technology;

¢) because of using fertilizers and pesticides;

d) because of replacing man and beast with energy from fossil
fuels;

e) because of industrial growth and expansion.

2. What are the environmental problems formed by agriculture?

a) the extinction of scarce plants and animals;

b) the contamination of ground and surface waters;

¢) the human health effects of pesticides and fertilizer residues;

d) air pollution from intensive animal production, manure
spreading and crop spraying;

e) soil compaction, erosion and pollution;
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) hunger and malnutrition;

g) reduction in natural resources;

h) the salinization of soil;

1) losses in landscape and wildlife habitat;
J) the decrease of biotopes.

3. What is agriculture’s greatest contribution to man’s wellbeing?
a) access to the countryside for enjoyment and recreation;

b) provision of better wildlife habitat;

¢) provision of the food and ‘nutritional’ security;

d) the elimination of malaria and other diseases.

4. What are the pollution phenomenon from other sources that
pose significant long-term threats to agricultural production?

a) increasing concentrations of carbon dioxide;

b) desertification;

C) increases in ozone concentration at the earth’s surface;

d) water logging;

e) decreases in 0zone concentration in the upper atmosphere;

f) pollution of the soil by harmful chemical and physical agents;

g) global climate changes;

h) soil erosion;

1) the salinization of soil.

5. What are the main sources of nonagricultural air and water
pollution?

a) industry;

b) intensive irrigation;

C) sewage;

d) acid precipitation;

e) nuclear and industrial accidents.

To solve any problem it is recommended to represent the
corresponding concepts in the memory and link them.

Select one or two environmental threats in your own area and
make a plan for environmental action. For this evaluate the in-
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formation from the text. Make notes on the changes and solutions
you’ve suggested. List the steps you can undertake.

TEXT 2

Active vocabulary:
fertilization — npumenenue ynoopeHuit
nitrogen — asor
depletion — ucuepnpiBaHUE, UCTOIICHUE
fertility — mmomopoaue
raw material — ceipbe
breakdown — pa3znoxenue, pacnan
a liquified gas — cxxmkeHHBII Ta3
compounds — XUMHYECKHE COCTMHECHUS
fixation — mpucTpacTre, 3aKpericHe
combustion — cropanue
precipitation — BelmasieHue ocaaKkoB
to contribute to smth. — cmoco6¢cTBOBaTH U.-I1.
poultry factories — nturiedabpuxu
0Xxygen carrying capacity — cnocoOHOCTb IEPEHOCUTH KHCIOPO/T
the ozone layer — 030HOBBI# ci10i
a shield — mur, sxpan
the incidence of skin cancer — vacrora 3a0oneBaHuii PaKOM KOXH

Outlining helps to focus on the most important ideas of a text,
separating what is central from what is peripheral. Outlining also
shows how information is organized and supported in a text.

REMEMBER:

Writers generally place the main thrust of their arguments either
at the beginning or at the end of a paragraph.

Connectors such as: as a result of, consequently, etc., play a cru-
cial role in advancing the main thrust of the writer’s argument. Simi-
larly, other connectors such as for example, firstly, in addition, re-
flect supporting arguments. By active searching for such connectors,
you are able to focus on the most important ideas of the text, separat-
ing what is peripheral from what is central.
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While reading the text it is rather often not difficult to figure
out the meanings of special terms from the content.

Identify the main idea in each paragraph and look for sen-
tences that carry the main thrust of the arguments.

FERTILIZATION: ITS EFFECT

The intensive use of inorganic fertilizers, particularly those that
contain nitrogen and phosphorus, is a key factor in the high yields
obtained per hectare in modem intensive agriculture. In the United
States, increases in yield per hectare, due in the part to the use of
such materials, led to a decline in the area of cultivated land by 27
million hectares between 1944 and 1969. During this period, fertiliz-
er use climbed from about 10.9 million tons per year. This increase
was necessary partly because of the depletion of nature fertility that
had occurred since American farmlands were first put into cultiva-
tion. However it was permitted some agricultural land to return tem-
porarily to grass and woodlands, which protected it from erosion and
allowed fertility to build up again.

It is easy to demonstrate that the addition of inorganic fertilizers
makes rapid and significant improvement in crop yields. In general,
about 20 per cent of total crop and forage production is due to ferti-
lizer use although the specific affect varies with crop and location. In
other words, if present use of fertilizer were stopped, the next sea-
son’s yield would be expected to drop by that amount (all other fac-
tors being equal). On the other hand, a number of basic crop species,
such as soy-beans and wheat neither receive much fertilizer nor show
strong responses to it.

It is clear that fertilization is essential to permanent agriculture
and just as clear that the fertilizing techniques in mechanized agricul-
ture are highly successful. Nevertheless, there are negative side ef-
fects, moreover, the increasing energy costs and the important con-
siderations of raw material availability make it essential to examine
present fertilizers use critically.

More nitrogen fertilizers are used than any other. Now, however,
a serious problem has developed in the form of increasing cost of
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nitrogen fertilizer. Hydrocarbon fuels are required in quantity both as
raw material and as fuel to create the high temperature and pressure
conditions needed for ammonia synthesis. As a result nitrogen ferti-
lizer costs sharply reflect changes in petroleum prices. Alternative
techniques of obtaining hydrogen such as the electrolytic breakdown
of water molecules, at present used only in a few plants, also have
high energy costs.

Much of the nitrogen fertilizer produced is applied as anhydrous
ammonia a liquified gas. It is also converted to a number of other
ammonium salts, nitrates, and other compounds for use as fertilizer.
These materials applied to the soil ecosystem create major changes in
ecosystem dynamics.

The recent comprehensive estimates of the transfer occurring in
the nitrogen cycle at the global level show that industrial fixation of
nitrogen (about 30 tons per year) is still well below the rate of bio-
logical fixation (175 million tons).

A second intervention by man is the increased rate at which ni-
trogen oxides are introduced into the atmosphere by combustion.
Most of these oxides are returned to the land surface by precipitation.

Intensive cultivation and livestock production have significantly
increased the outflow of nitrogen from agroecosystems. We know
that food harvests and accelerated erosion deplete the original soil
nitrogen pools; two other factors also contribute to this depletion: the
application of large quantities of inorganic fertilizers and the devel-
opment of feedlots; poultry factories, and other sources of concen-
trated animal wastes.

Because of their toxicity, however, high concentrations of par-
ticular nitrogen compounds in crops and in water supplies can be a
direct concern to health (when nitrate in the blood combines with
hemoglobin and thus reduces its oxygen carrying capacity).

The growing use of nitrogen fertilizers has recently become a
matter of concern in relation to the ozone layer of the stratosphere.
Some scientists believe that the ozone layer might be reduced by
roughly 20 per cent during the first quarter of the twenty-first century
as a result of current and future use of nitrogen fertilizers.
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The ozone layer of the stratosphere acts as a shield to absorb in-
coming ultraviolet radiation. Among other effects, increased ultravio-
let radiation raises the incidence of skin cancer. A significant harm to
health could thus be created, and close attention must be given to the
movement of nitrogen compounds through the atmosphere as well as
other parts of the biosphere.

Exclude some detailed information and write down the gist
of the text.

Usually for quick information search it is important to focus
on the most important ideas in each paragraph and look for sen-
tences that carry the gist of it, classifying key and additional in-
formation.

To write down the main idea of the text you should avoid
translating and try not to mention insignificant ideas, using se-
mantic tips.

QUESTIONS:

1. What kinds of inorganic fertilizers greatly affect the crop
yields in modern intensive agriculture?

a) containing potash;

b) containing nitrogen;

) containing phosphorus;

d) containing manure.

2. Due to what techniques did American farmers try to improve
soil fertility?

a) application of manure;

b) application of fertilizers;

c) return to grass and woodland;

d) land reclamation.

3. What is the serious problem that has developed in fertiliza-
tion?

a) the increasing energy costs;

b) raw material shortage;

¢) the increasing cost of nitrogen fertilizers.
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4. What are the results of man’s interventions into ecosystem
dynamics?

a) the increased amount of nitrogen in atmosphere;

b) the increased rate at which nitrogen oxides are introduced into
atmosphere;

c) the reduction of the ozone layer;

d) the increase of the ozone layer.

5. What reflects changes in petroleum prices?

a) the availability of nitrogen fertilizers;

b) the amount of nitrogen fertilizers used by farmers;
c) the cost of nitrogen fertilizes.

TEXT 4

Active vocabulary
irrigation — oporenue
approximately — npu6iu3uTebHO
total land surface — o0G1ast TOBEpXHOCTH 3€MJIH
freshwater — nmpecnas Boja
withdrawal — u3ssTre, 0T60p BOABI
precipitation — BeInaieHue 0CaIKOB
in all probability — mo Bceit BeposiTHOCTH
a power plant — asrekTpocTaHIus
evaporation — ucrapenue
stream flow — pacxoj moroka
contamination — 3apaxenue (Bogoema)
air pollution — 3arpsi3aenue Bo3ayxa
to disregard — urHopupoBats, mpuHeOperath
to acidify — oxucnsars
to dissolve — pacTBopsaTh
sensitivity — 4yTKoCTh, BOCTIPUMMYHUBOCTh
artificial drainage — nckyccTBeHHBIN IpeHaX, OCYIICHHE
consequence — mociaeacTBUC
to subside — cHmKaTBCSI, CXIIBIHYTH
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Do you remember that the main idea of the text as a rule is
placed either at the beginning or at the end of it?

Read the title of the text and the first paragraph of it and
predict what type of irrigation this text will be about.

To be more successful in decoding information you should be
able to categorize information obtained from the text.

Skim the text quickly (maximum one minute) and find out
the most essential information.

Remember!

— key words are important for minimum use of visual infor-
mation;

— cohesive devices are textual markers indicating what you
should pay attention to;

— the strategy of ranking facts plays an important role in pro-
cessing the text by the reader.

IRRIGATION: ITS EFFECT

Of the total 157 million hectares of cultivated cropland in the
United States, approximately 16 million, or roughly 10 per cent, are
irrigated. Most of this area, 14 million hectares, lies in the western
states. Crop production on much of this area, including central and
southern Arizona and southeastern California, depends entirely on
irrigation. Total use of water in the United States now equals about
46.9 million hectare-meters per year. About 35 per cent of this, or
16.4 million hectare-meters, is used for irrigation.

In a number of other countries, irrigation is even more important
to crop production. For example, about one-third of the cultivated
land of mainland China is irrigated. Worldwide, about 160 million
hectares which is about 1 per cent of the earth’s total land surface,
are now under irrigation.

The demand for freshwater resources is continually growing. By
2005 A.D., total withdrawals are projected to be about 21 percent of to-
tal precipitation, or nearly three-fourths of stream flow. In all probabil-
ity, the fraction of this withdrawal that is consumed during use will be
greater, because more of this amount will go for irrigation, power plant
cooling, and other uses that involve considerable evaporation.
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It is also obvious that the importance of water quality will grow.
With population and industrial growth, and with an increasing part of
total streams flow being diverted for human use, the contamination
of streams and rivers will almost inevitably increase because of ur-
ban and industrial waste discharges, drainage from irrigated
cropland, runoff from urban and rural land surface and increases in
solutes in rainfall caused by air pollution.

Increased water losses by evaporation from reservoirs and canal
also create higher solute concentrations.

Higher solute concentrations in irrigation water create more
problems of soil salinity within agroecosystems. Total solute concen-
trations can reach levels that interfere with crop growth through their
influence on soil water potential, and particularly, ions can have tox-
ic effects on crop species and can damage soil structure.

Disregarding toxicity, solute problems exist in three major kinds
of soils, saline soils, saline-sodic soils, and sodic soils.

Water used to leach saline-sodic soils must be naturally high in
calcium salts or used along with application of calcium sulfur (gyp-
sum). Substances such as ferrous sulfate that acidify the soil and dis-
solve calcium carbonate can also be used to reclaim sodic soils.

The direct effects of soil solutes on crop species are of two types:
osmotic effects, caused by overall concentration of solute, materials;
and specific ion effects, caused by the toxicity of particular ions.

Plant species vary widely in their sensitivity to soil salinity. It
should be clear that irrigation cannot be carried out except under condi-
tions in which adequate natural or artificial drainage permit excess salts
to be drained out of the productive portion of the soil system.

The natural consequence of water use involving appreciable
quantities of solute is that the water leaving the soil system has a
higher concentration of salts than the water applied, and so the sys-
tems that receive the outflows, either groundwater or surface water
systems, are salinated.

Intensive irrigation has the potential to create secondary effects
outside the agricultural lands to which water is applied; it can, for
example, salinate ground and surface waters, cause land from which
water is pumped to subside, and generally modify regional climate.
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You have already known that cohesion provides the main
thread of a text. An efficient reader reads faster and gets more
information because he makes use of the strategy of cohesion.

QUESTIONS:

1. What states of America make up the most part of the cultivat-
ed crop land?

a) eastern states;

b) western states;

) southern states;

d) northern states.

2. Which part of the earth’s total land is now under irrigation?
a) about 35 per cent;

b) roughly 10 per cent;

c) about 1 per cent;

d) about 21 per cent.

3. What is the projected withdrawal of the world’s freshwater re-
sources by

20057

a) about 1 per cent;

b) about 21 per cent;

c) about 10 per cent;

d) about 35 per cent.

4. What creates higher solute concentration of streams and rivers?
a) urban and industrial waste discharges;

b) air pollution (through rainfall);

) water losses by evaporation;

d) intensive cultivation;

e) runoff from urban and rural land surfaces;

f) drainage from irrigated cropland.

5. What are the kinds of soils in which solute problems exist?
a) sandy soils;
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b) saline soils;
¢) sodic soils;
d) clay soils.

Exclude some detailed information from the text and write
down the main idea o

SAKVIIOYEHUE

B Hacrosmiee BpeMs B YCIOBHSIX BCE BO3PACTAIOIIECTO MOTOKA
HaY4YHO-TEXHUYECKOH HH(POpPMaLUMU Iepe]l CHelHaIMCcTaMH 4acTo
CTOUT 3a/iaya OBICTPOTo MouckKa, cOopa, nepepadoTKH U 00CYXKACHUS
uHGOpMaLUU A NPUHATUS PELICHUH B NPOU3BOACTBEHHOU jes-
tenbHOCTH. LleneBoit mouck mHpopManu paccMaTpuBaeTcs B Kade-
CTBE CTPYKTYPHOIO KOMIIOHEHTa MPO(ECCUOHAIBHON JAEATeNbHOCTH
CHEIUAINCTA.

YuebHoe nocobue «AHITUMUCKUH A3BIK JJI1 arpOHOMOBY COZIEep-
KHUT KOHCIIEKT TPaMMaTHYECKOTO MaTepHhalia, MpeICTaBISIONIETO
0co0Oble TPYTHOCTH AJIS W3YYAIOUIMX AHTJIMHCKUHA SI3bIK B HES3BIKO-
BOM BY3€, a TaK)Ke HAOOp MPaKTHYECKUX 3aJaHUH, CIOCOOCTBYIONINX
YCBOEHHIO 3TOr0 Marepuana. TeKcToBas 4yacTb MOCOOUSI OPHUEHTUPO-
BaHa HA Pa3BUTHE HABBIKOB UTCHHS, W3BIICUECHHUS HEOOXOIUMOMN MH-
dopmanuu ¢ TOMOLIBIO pa3Nu4HbIX cTpareruid. Ilpu oTOope TekcTo-
BOTO MaTepHaja B KaueCTBE OCHOBHOTO KPHUTEPHUs CIYXKHJIA ayTeH-
TUYHOCTb TEKCTOB U MX UH(POPMATUBHAS LIEHHOCTh. TeKCThI ocoous
HE aJJalITHPOBAHBI, B3SATHI U3 COBPEMEHHBIX HCTOUHHKOB U OTPAKAIOT
60raTcTBO M pazHO0Opa3ue COBPEMEHHOIO aHIIMHCKOTO A3bIKA.

B nenom nocoOue mo3BOIUT CUCTEMATU3UPOBATh 3HAHUS 00 OT-
JIeNTbHBIX TPAMMATHUYECKUX SBJICHHUSIX aHIJIIMUCKOrO si3blka U cop-
MHPOBATh HAaBBIKHM MOJIYIeHHS U 0OMeHa nHpopmarmei B mpodeccu-
OHAIILHOM cepe.
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